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��� '
��
#�� m ∈ [−I, ..., I] #��������� ���

�
�����	��� (�
�����
�� ��� ωL �	� ��� )
��

������ ����* ������ ��� ���������"����� �����

�� #��
��#
���� +���
�	 ��� Δm = ±1 ����

	������� ��� ,����
���� ��� m ���������	����

�� ���������� ��� -�����
���.�
��	���� .� �����

��-� �/� �
	 -�	������	�
���'��������	 ���	����

��� m = 1 ��� m = 0 +���
� �� ������	����

0������������

Nm=0

Nm=1

= e−(ΔE/kBT ) ≈ 1− �ωL

kBT
$%�1&

��� ��� -�����
������	�
���� kB� ��� ������������	����� ΔE �	� 	��#	� �/� ���� 

�����

������ ����� �� '�������� ��� ������	���� ������� kBT ��� �
	 -�	������	�
���'��������	

����� �2��	�������	� �� ��� 0�34��������� ��� 56−6� 7#���� ���	�� ,����
����	�����	�����

	��� ������ �	�* ��	������� �
�
�	 ���� �
���	����	��� 

�����	������
# –

M0 =
∑

i
#–μ i* ������

����� ������� �
�����	��� ������
#–

B1 �
��������� ������ �
�� $	���� �
����� %�8&� !�����	�

	��� 
#�� ��� ������� ��	 ����	���	2	���	 ���
��� #���
����� �������

���� ������� ��	 �
����� ���
������������ 	�� ���������

9#��	���� ��� ��� �����������
��9��	�
����� ����	 ����	���	2	���	 ����� 9������ ����	

��������
#–

B0 �����	 ��#� �	 ������� ������� ��� ������� :���	�����������* ������ ��� 0��

	
��������� #����;�		��� .� �3���� ��-� ���������� �������	� �
	 ������� 

�������� 
�

7�� ��	 ����	 
#	�������* �
	 �� ����� '��	����#��� ��� <�	��
������� �� .������� �/���

$�	������ �����	��� '��	����#���&� ��� ��������� .���	 ����	�������� 
��� ��������
����

/#�� ��� ������ ��� �
�����	���� 
������ #–μ $������������:���	���������& ���� ��������

/#�� ��� 	�
�
�� �������� $=���������&* #�� ��� ���

��� -������	���������� ����� �����
��

<���� 	�������

>� ���	� �"���� #�� ��� -��������� ��� 0�	
��������� ��	 ����	���	2	���	 �� #��/��	����

�����* #����� 	��� ��� ?
����������
��� Ĥ 
�* ������� 
�������� 
�	 .���� ��� ��������
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���� ������� ��	 �
����� ���
������������ 	�� ���������

��� �������� �����	
�� 
���
������ ������ �����

Ĥ = Ĥext + Ĥint

=
︷ ︸︸ ︷
ĤZeeman + ĤRF +

∑
j

Ĥj �����

��� ����
����
������ ��� ������������������������ ĤZeeman = −γωLÎz ��� �������� ��� ���

����������  ������ !��	������
�� ��� "��������#����� ����
 $����%��&���'�(���� �)����

��� ĤRF = −γ�B1Îx ����
������ ������� ��� !���%��� �������� *��
���������
��+ 
��� ���

Ĥint =
∑

j Ĥj '�������
�%����+ ��� �������, ��% ������������ -������
�� ���� �#������
�

(��'���� �����
��� ��� (����� ��� .���/ j ��'���
��� ,����
������ ������� *��
���������
��

��� �
�����
� !����
�����
 ���� ������� "������
� ���
�� �����	
�� ����� ��� 0���������

���
���������
+ ����
� �� %��
����� "������ ����1 
������ ������
��� �����

��� '������
� ����������
 ��� 2����#����� ���� ��� ���%� ��� 3���,�����,���4������ 5����

�
��


�
�t
ρ̂ (t) = −i

[
Ĥ(t), ρ̂(t)

]
��� ρ̂(t) =

∑
i

pi |Ψi〉 〈Ψi| ���6�

����
������ ������� ��� ���
���������� ρ̂(t) ��
��� ���
 ����� ��� 7�����
����
 ��� ��� pi

����
����� ��������
���*�����%��������� |Ψi〉� ��� �����
���
 ��� '������
�� ����������

������ ���
 ���� 8�����������
��
 ��� ����������������� Ĥ �� 9���� ��� 2��������� ��� .�� ���

��������:��� ��� ��������� *��
���������
+ �� ���� ��� ��
� 2	������	
����
 ,��������

������� ��� *������� ������
���� ��� 7���
��
 �� ��� ��� ωL ����������� "�����������#����

��� ���;�����
��
��
 ,�� ���<;���� ����
 ĤRF�

������ ��� ��	
���
���������������

��� �� ��� �����������4=$ ��������� ������� *��
���������
 ��� ��� 0�����������
����

������
� >;� "�������� ��� I ≥ 1 ��� ��� ���������
� 3����
�,��������
 ��� "���� ���
� ��
�

��
���#��������
� ������
 ������
�� 
)
��� =������ ��� ��� 0�������������� Qij+

Qij =

∫ (
3xixj − r2δij

)
ρ( #–r ) �V ���?�

��� ��� �� ���
 �� ����� 8����� '������ 2��%� %;� ��� ���� $������
���
�� i, j = x, y, z ���

��� �������������
���!��������
 ρ( #–r ) 
������� .�� Qzz > 0+ �� ����
����� ��� 0�����������

���� ��� ��������+ %;� Qzz < 0 ��� ������� $������������������ Qij ���
�������� �� "������

��� ��� ���������
�� >���
��������� 8����� ��>5�8������ V + ������
 ��� ������ ��������

��
� @�
����
 ��� "����+ ����
� �������, ��% ������
�� ��� "������������,��
	������� ���+

1A



��� ������	
��� �
��������

���������� 	��
�� ����


Vij =
∂2Φ

∂xi∂xj

������������ ��������� Φ ��
��

����� ���� �������������� 
�� ����������� �� ���� ������������ ���� ���!� 
����� �� ����

!����!������ "�� ��
 �� ������ ���� 
�� #� ���������������� η = Vyy−Vxx

Vzz
��	�� 
�� #�����

��������������� eq = Vzz 
�$������


��� ����!�� 
�� %��
�����	������	�����!& !�!�'�� 
���� 
�� �����������

ĤQ =
�Q

2Î
(
2Î − 1

) ÎV Î �����������
��! � ��
(�

��� ����� �)� ���������� "��!������ ��� 
�� ����!�� 
�� *�������+���� ��
 ���� �� ������

,�
���! -�.���!��������! '������� 	��
��
 /� -0������0�����! ��!�'� ����

ĤQ =
eq�Q

8Î
(
2Î − 1

) [
3Î2z − Î

(
Î + 1

)] [
3 cos2 (Θ)− 1− η sin2 (Θ) cos (2φ)

]
��
1�

��� 
�� �����	����� Θ ��
 
�� #2������	����� φ& 	����� 
�� 3�!� 
�� ����������� '�2)!�

���� 
��
#–

B0 ���
�� '�������'�� �#''��
��! �
4�
 �)� ,�� ��
 5������������ ���
 ��������

���� ���� �������� �	��
����

	�

 ��
�	 �� ��
��

������

������ ����
���� ��� ����	
�


��

���������

��� 
�� σ�6��
��! �����"�����	������� �)� 
�� 3�
��!��


�����"��������! �� 7���& 
����� ��������� ���!���



�� #8���� ������� ��� 
�� z����������� 
�� ��� ����

���� )'����������� 96��((:
 ������ ���������� �)� 
�� ���

"������ ,�� '2	
 5��6��
��! ��� �8���� �����������

������ ��
 �� !���� ;0�����! �ηOD,CD ≤ 0, 2� ���� 
��

#'�0�!�!���� "�� #2������	����� φ �� ��������! ��
1�

"�������0���!� 	��
��
 ��� <�
����! 
�� ����!�� 
��

%��
�����	������	�����! �0�!� ���� ��
�!���� "�� ���

���	����� Θ �'


#����! 2�� 3��������=���2 ωL '��� *�������+��� ����

���� 
�� %��
��������=���2 ωQ 
�$����� 	��
�� ���

ωQ (Θ) =
δQ
2

[
3 cos2 (Θ)− 1

]
��� δQ =

3

4

eq�Q
�

��
>?�

��� δQ ��� #�������������������
 �0�$! ������� ��� ���� "�� 
�� %��
������������!�����

������� 4
3
δQ
 �)� 
�� ����!�� 
�� =��
������� !���.���� ����!����"���� ���!� ���������
����

Em = −�mωL + �
(
3m2 − 2

)
ωQ (Θ) ��
>>�

#� ��������! ��
>>� ������� ���& 
��� 
�� ����!����"���� 
�� 7��������*���0�
� ���

�?



���� ������	
��
������

���

m = ±1 �� �ωQ ������	�� 
����� 
��
������ ��� m = 0 �
���� �� ��� ���
���� ���

���� �	������� 

��� �
� �	����������������� �

����� ��� �����
��
����� 	������� ���

ωL ± 2ωQ�

���� ������	
��
������

���

�
� 
� �� 
��� !�! ���"�����# 
�� �$� ���������� �
� %����� ��
������

����� �
� ���
�

����� 
������ �������

����� ��� �
� &��
�
�� ��� '�� ���� (���
����������� �����
�

��� �)������
#–

B0 *��� 	���
��� �
� %����� ���������� ωQ� ����� �
� ������ +���
�
�
�

�"� ��� %����� ��
������

����� �	�� ����� ��� �
��� �
����"������� 
�� �� �,��
��#

-���
���
������� ���� + ���� ������� �� ����
����� �
�� ���
��� �
� .
��� ��� /
�
�/�
����

��������
��������
���� 0�� 
��� !�1�!2 ���� ����� �
� 3����������� ��� �������	�"��
���

-���)��
����� 4������� �,���� �
� .
��� ��� � �������� �
���������
�� 	�����
�	�� 
������

������ ��� �	�
��
�� ���������
����

��	�� ��� -��
����������&�����# �
� �
�� ���
����# �)���� ���������� ���
�5������ ��� 6��

����
�
����� �����	�� 0�
��� �� 
��� !�12# �
�� ��� ����� 
������ ����
��
���� *�������
����

F (t) ��� ����� 
��7����� 0���� ���������� ����� -���
���
������ �������2 ��� �
� ���
�

���	������� ���"�����
���� *����� ������
����
�� �$� �
� ��
��
��� ���

������ ��� 6�����

�
�
������ �
��� *�������
���� �,���� �
� .
��� �
��� ����
�����# $	�� ��� + 
�������	��

���
������� /
�
�/�
����8�����������
��������
�� A(t) ������� 
������

A(t) =
〈F (0) · F (t)〉

〈F (0)2〉 〈τc〉 =
∫ ∞

0

A(t)�t 0!�9!2

�
�� ���������
��
���� /�
���������� �
���� *�������
���� 
�� ����	�� ����� �
� �
������

��������
�����
� 〈τc〉� ����� �
� *���
���:��������
���� J(ω) ��� 8�����������
��������
��

���"�� ��� /����� ��� *����������� ��� ���� �
� �$� �
� �6- �7 
���� + 
��;
����� ���

+ 
��+ 
��-���)��
���� 	������
	�� 0�
��� �� 
��� !�<�!2�

J(ω) =

∫ ∞

−∞
A(t)eiωt�t 0!�9<2

=�� �
� -���
���
����� ��� *�������
���� 
����� ��� ���� �
� �
��� /�
����������� τc 	��

����
�	�� 
�����# �� ���� ��� 
� �
��������� *��� �
�� �) �����
��� ����������� ��������
�

��������
�� A(t) ∝ exp(−t/τc) �������� ��� �� ���
	� �
�� �
� ��� �����	�����# &������

��� &���� ��������� � ������� �
���������
�� >���1?@

JBPP(ω) =
τc

1 + ω2τ 2c
0!�912
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��� ������	
��� �
��������

�� ��� ������� 	
������ ������
������ ��
� ��� ������� ���������� ��� 	���� ������������

�� ���� ��
�� ��� ���� ���������������� ���������� ������� ���� ���������� g(τc)� �� �����

������ ���������� ��� ���� � �!� ���� ��� β ∈ [0, 1] ������
��� ������������� "������

��� ������������#������� $��������
��%��������%���� $�%%& '�������&� (���������
����

��� ����� ��
� ��
� ��� ��������� (�
���#������� ��� ��� !���� ��)� #*� ���� +����(�������

����������������������������� ,(��-.�(��-/0�

JCD(ω, βCD, τc(T )) =
1

ω

sin (βCD arctan (ωτc))

(1 + ω2τ 2c )
βCD/2

$1�/-&

��� ��� 	���
�������������� 0 < βCD ≤ 1� (�� ���������������� τc ��� �� "���������� ���

��� 2��������� ��� ���� ��� ���� � �!� ��� ����� "���������3����� ���� ����� ������

'��
����2����� $�'2& 3���
���� ���
������� 4������

τc(T ) = τ0 exp

(
EA

kBT

)
"�������� $1�/5&

τc(T ) = τ0 exp

(
B

T − T0

)
�'2 $1�/6&

7����� ��� τ0 ��� ������� "�����8��9���� ��� EA ��� ��������������� $���� "������������

�������& #*� ����� :���������������������� ����
�4����� ��� �� �����������
�� (���������

2��������� T0 → 0� �� �������
�� B ����� "������������������ ��� 3���
������ $1�/5& ���

$1�/6& ���� �������
��

������ �����	�

��� 
�� ����������������
���

;�� 7��#� ��� �� ������� 1�<�/ ������������ ���������� (�
���#������� ������� ��� �
���
��

=;:�:������������ ���� �� ���
�������� �� �9��������� ��� ��� 3���
���4�
�����������

�������
# –

M0 �������� ��� :�
����� ���
#–

B0 ����������� %��� ��� 	
���� ����>��� �� ���� ���

�4��
��� �������������� ��� ������������� :��������� ������
�������

�

�t
Mz =− Mz(t)−M0

T1

�

�t
Mxy =− Mxy(t)

T2

$1�/?&

(�� ������
��� ���4�
������� ��� ;������������������������� ��
� ����� 	�>���� ���*
� ��

��� 3���
���4�
���������� �>���� ���
� ��� )��
��3���
������ ���
������� 4����� ,)��@50A

��� ������������� ;������������� ��������� ��� ��� 	����3������:�������������� T1 ��� ���

������������� ����������� ��� ��� 	����	����:�������������� T2� (�� �������
������ :��

����� ����� �����	�	 
�		��
��������������	��������� g(τc) ������ ���� �� ������� �������� ��	����
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���� ������	
��
������

���

���������	��
� ����
� ��� 
������� �
	 ��
��	�������
 ����
�	���� �
	�
� ���	����

1

T1

=
2

15
(ΔδQ)

2 [J (ωL) + 4J (2ωL)] ����� 

1

T2

=
1

2
(ΔδQ)

2 [3J (ωQ) + 5J (ωL) + 2J (2ωL)] ����! 

"�
 #$�%�����
�� &�' #(�'��������
� φ ��	�
 ��)�	��� 
��
� )�	 *"+ ��� ,"+-������
�

�
	���
� #�.''
�	�
��	�'
�
	� �ηOD,CD ≤ 0, 2 &
	�����%������ (ΔδQ)
2 �
��(
����
� �
�

/�����
	
��
� #��
�� �
	 0���	���������������������
�� 1� 2�'$������� '�� 3�
������

����4 ��� ����5 ���� �� ��
 �
'�
	���	&
	���) �
	 6
���������(
��
� $
���	�
$
� �
	�
��

����������	�
���
�����

7�	 -
	
������ �
	 T1(T )+2�	&
� �� #$$������ ��8 ��	�
� ��
 9
�+:�	�'
�
	 )
���
�
�(�;

�' �
� <��/��� �.�����
	 ,"+ ��� ,=+2����������������
� ����
 ��	
��������	�'
�
	

βCD ��)(�(
��
�� -
� 
��
	 ��������
� >�	'�	)	
?�
�( νL = ωL

2π
@ 50A=( 
	���� ���� T1,min;
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 ������� 	�������� ���� �	� ������� ������� /	�������� ��� ,���������-

��� ���� ��� 0-�������-1������� ��2
������ 
������� ,����� ��� ���� �	����� ��� ������

���������� ������� �	�3������� 4�	��5) ��� ��� ��� 03���#3�
�	��� �	��� ��� ��-
���

������� �	���) �� ������
��� ���� ��� "��������
������6� ��� !	����������� 7�	���8 1��� ���

9�	���
 ,����� ����6
� ��� "��������
������6���� ����� �������� ����� /�	����� - 	�� ��-

��� :�������� ���� Δχ = 1, 24) !�� ���� ��������� ���-����	�
 ���
�
�� �	� ;)*<� ���

/�������6� ��� :�������� �������-����	�
�� ���� ����� �	��� �	�� 
�����6���) �������

������� ����	� ��� ��� 9��������������� !	�
����� ���� 	�� ���	��� ��� 
����� ��
������

0-������� ���	������

��� ������������ ������������� ���3�-9������) ������� �	��� �	��������	���� /��	��	��� ��-

��� 9������6� ���	������ ����) ���� �	��� 
���
���� ���6�� ,����	�
�� ��� ���� =-,���3�-

>-0������� ��� >-,���3�-*-�����	��� 4�5011��5 %9��;?+ ���� >"<0 ��� �	�� %,	�;>+

�6��� ��	����� ������� /� !��� ��� �� ����� 4�	@05x4�	��51−x ,����	�
 ���� /���������

��� ���	��	������ 	�� ���3�-.���#����� 	� ���� ��� * A��B	��� ������� %"� ;C)9��<>+� x

��� ���� ��� ������ 
������������������� ���� 7�����	�
 4(�>5�

1���� 	�������� /�� �� ������ ���� ��� ,����	�
�������� �	�� ,����������� ������ ��) ��

�� ��� /�6��� ��� ���3�-9������ ����� �	� ������
���) �������) ��� �������� �� ����� 4*,(05 x

4>0<�51−x ,����	�
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	�
 ��	��� 	���� ���

��� ��� ������	�
� ����
��� ���	��
�� ��	 ���������������� �� ������
���	��� 	� ���� 	�� ����������

�������	��
�� �� ���4 ����� ���	� 	�� ������� ��� 
����� �����	��
� ������� ����

F(



��� ������	
��

��� 
�� ������� �������� �
� ��� 
�� ��������	���������

���

���

���
>8

�*
�8

+�
��

>

,� �� �*-

,� �� �

,� �� �*� ,� �� �*�

,� �� �

���


	�� 
��� �	�� ����
(�������.�� ν� � 	−��

� � �
���

���

�α�β
γ

�*�
�

�

δ

���� �	�� ����
����

����Δ>

(������)���� λ � ��	�
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�
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�� �
� ��� �����	�

�
�����	���
�
� �#�$�$����

��	 ��	�� ��� %����� ��	�

���	��� α/β � ��& γ � ��

��� δ������������
��#���

� � � $� �����! � � ��'��

	���
����	�� ΔA(λ, x) (

A(λ, x = 0, 1) ) A(λ, x = 0)!

������� ����� �� 	��
����� 
�� ���������� ���������
 ���������� ������
������� k ����

��� ��� �ν���� ≈ 2−1/2 �ν���� ��  !������ ��" ������ #�������
 �$�%��� &'� ��� δ������ ��

������� �T ( 300)� ��� ���� ��� ��
�"��� 4450 ��−1 ��� &����  ���� '�����!!�� ��� �!������

��� �������� ��� ������ ��� ��� ����������� �����* +�� ��� ,�������
 �-
������ ������*

.������ ���� .����������������� 
� ����������  ��+��
��
�"��/���
�� ������"�����

��������
 0�$ ��� 
��
� 1����"������!������ �� ������ ������������������ ����� ������ x

������1−x 2������
� 3� 3���� ��� 
�� 
� ��������* ���� ��� ��������
�� ��� ����������

��� α/β�* γ� ��� δ������� ������ ��� ��������� ���� )��
��������� x ��������� 4��


� ��+����� +��* ����� ����� ��� 2������
 ��� ���� ��� 	���'����
��5��� ��"� ������

���
� ��
��� ���� ������� ����� ������ ��"
��-��� ��������������� 3� ��������
 0�$ ���

��� ��� ��
'
���� ��� ����  !������� �����
����� ������0,1������0,9 ��5����
�!������*

ΔA(λ, x = 0, 1) = A(λ, x = 0, 1) − A(λ, x = 0)* ��
�������� 6���
���� ��� ������� �� ����

�����  !������ ���������� α/β� ��� δ���������7��� ���� ���� 
� ��������� 	���������

���� ���� �������� 	���'����
�� ��� x < 18 ���+����
* �� �����!����������� ���������

����'�����
���������  ��������� ��"
��-����

���� ������	�
��� ��
����� ��� �
����
��� ��
������

4�� �� ��� 9��������
 ��� )�!���� 0 ��+����* ���-
����� �� ���  ������ ������� 2�����:��

���� ��� 2������������ ��� ����� ���������� ���������* ������������ ��� ��"������ �����

���������� )��
��������� xc ;9� <=* 6��$$>* 9����������� �� ��
�
 ��" ��� ������������ ���

���������� ���:��?��
��� 
� 
�+������ 3� @����� ������ ������ +����� ��� �� )�!���� =�$

��� =�� ������� ���!�����������
�
 ������������ 2����������� ���� ��� �9$� ��� ����

�
+� �9$�� ����'���� ��� �������������� 1����"������!������ ���� �� ��� ��������
�� 0��

��� ��� ��� 
+������ $%%< ��� 1685 �� 
�
��
��
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6������+&�� ν� �7#−��

�+�

���� �	�� ����
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���

��� δ

γ

α9β

�7�

��

6������-�!�� λ� ��#�

2� @� �

2� @� �

��� ��� ��� ��� ��
 ���

������2����:���−2 �.�

�

�

#*�+��� >�%*&*�%*����$�+$ *�� 2

���� ���� ��������	
�� �
� ��� ������x����
�1−x ��� ��� ������x
�����
�1−x ��
 x � � � � � � �� �� 
�		�� �
� �!� "�� 300#� �� ��� $��� %�$&	%'�� x
� �!�( ��� �!�� $
)�� �* ��$�	 x � �!��( ��� �!��� +�%��+	� ,�� ��	$�
�� �����
-"$

�	�
�$*�.�*� ��
 α/β�! γ� ��� δ������� $
)�� ��
 ��/�
 �� )��+��+ � �
$��� �� �"� ��� ��� �'$ �
''� �0*"
'� �"+�"�'��	� α/β � �� ��� δ�������*�.�*�
� � ��$ ,�1�
��%$���	
�� 23
���4 $���  ��%�+���+	� ���+�%��� ��	� 5����� ��� 3���'�
������ ����
 "�$$�
�� 6�$��'�$��
��+ ��
 �
�	�$� �� #
�%��	
�	�
� �
� xirc ≈ 0, 4
��
 ������x����
�1−x ��� xirc ≈ 0, 7 ��
 ������x�����
�1−x "%)� ��
 '����
��
#
�%��	
�	�
�$�" &�+�+���	 ��
 ��/�
 �� )��+��+�

����� ��� ��� 	
�
��

�
��� ��������� α/β�� γ� ��� δ������� ���� �� �
�
�� �� ������x

������1−x ��� ���� �� �� !��x�� !���1−x ���� ������ 

�"�������
�����#����� $��
����
���

����� ��� ��% 1668 �&% '� �� �����& (������#����������� ������������� )��$��
����"��

���������� ������� �� ���� �& ��� 

*������ ��)�� +��������� ,-��./�0��.12% '�� 3�����

&�����&
�� ��� )�� +����
���������� ����� "������� 4.5 ��� 500 �&−1 ,	��5�2% '�&����

��������� ���� 
���� ν�)��� �����6�� �& �7-�+��
���& "� ��
�������%

$�������� *
& ������ 	
�
��

�
� �x = 1� ���
� ��� $��
����" ����
 ������
�������������

����
8��������� �δ�������% '��� 
��� ��� ��� ��� $����&� ��� ���'����� ����� ��� 9���

������� &�� ���� �"�% � !�� ����
� "�� ������x����'�1−x 	������� �$�������� :%!�

����������� 
��� ���� ��� 0
���;���" ����� ����6���� ������
������"���
�� ����%

 ������� 
��� ���������
���� ������� �� �� �����& 3��� ��� $��
����"�� ��� α/β�������

4.
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 ��	 ���� ���
 ��	 ��
���
 ��������� γ���������
����
�
�� ���������
 ������� ���

������
�� ��� ��� � ��
	�� �������	 ����� �� �����	��� ���� ��� ����
� �����	�	 !�������
���

"�

�� ������
� #�		����	
 ���
 ����
����
 ��� "�

�������� �� ����
� ���
 ��� � ��
	���

��� ��� ��� ��� ���

����

����

����

����

λ δ��
��

�

�%&'����%&%���−�
� !����� !�%���−�

������� 	�
����
��
���������� �

���� ���� ����������	��
���
��	��

��	� ��� λδ 	� ������x������1−x ���

������x�������1−x ��	 300��

$���
��� ��	 δ������� λδ� ��% &	��� '��

(����	�
�)�	������"�� �	�
�'�
�
 �� ��	���

	�� (����������� '�	��
������ *� ��	 +�
 ��


���� %�	 ���,-�x����	�1−x ��	 ���� �������

���� .�/�� ����	����� ��
 Δλδ ≤ 4 �� '���

��	����	 '�	����
�� ��
 ��	 

�	����
 �����

���	
�� #�	��
������ ����
� "� �
�� 0�1�� *�

�231-�x�231�	�1−x ��
 ��� $���
��� ��	 δ�

������ ����	
��� ��	 ��
��	�	����� 
�������

����
��
� 4�� ��
 ����
������ x ��������

δ���������
����
�
 	����
��	
 ������
 ��� ���

��	 	������	
�� ����
� '�� ����
���"�

�� ���� �� ���,-�x����	�1−x �
��� ��	��	 ��	�����

�� 5��	����
������ ��
 3	��������� ��� ������
	���
�� !�������� ��� ����� ��� 4��6��

7���8�
�������
 τD %�	 x > xdiel
c ≈ 0, 5 �� ���,-�x����	�1−x 93� :0; ���� %�	 x > xdiel

c ≈ 0, 6

�� �231-�x�231�	�1−x 9$	�12; ����
����� '�� ��	 ����	�� ����
��������
	�
��� ��
�

*� "�����
	�
������	���
 x > xir
c ��
 ��<�	��� ��� ����	���� ��	 α/β������� ��� ����

��� ����	�� !���
����� ����
��
� 4�� ��	�
 ���� #�	������� ��	 !�������
��� �������	
�

7������	��� ��	 ����
��������
	�
��� x ����
��

 %������
 ���

 ��%�	��� ����	 ���������

����
� %	���	 ����
���!������ �����	� ��	�
 ��� ��%�	��
�� -��	���������������	 ���	��

��
��

4�� (��
�	�� %���
 ��� ������	 ��
	��

��� ��	 α/β� ��� δ���������
����
�
�� ��� ������

���� .�2 ��� ��%� ���� ����
� ��� =*7�� ��
	���� ���
 �	��

��
�� �	�
���
�� "�����
	�
���

��� '�� xir
c ≈ 0, 4 %�	 ���,-�x����	�1−x ��� xir

c ≈ 0, 7 %�	 �231-�x�231�	�1−x ���
���


'���������	 ������
��� ��� ����	���� #�	
��
����� A(λδ, x
ir
c )/A(λα/β, x

ir
c ) ≈ 0, 55 ��� xir

c ��

������ !���
����� ���	 ����
���
 ����� 3��� 4��������� ���� >���
 ���
 �� "� �
�� 1?�1�

��	 x < xc '�		����	
 ���
 ��� ����
�� ��	 δ���������
����
�
 ��� ���
 A(λα/β) ������


��� ������	 �� ��	���� 3��� �
	��
�	���� ����6�� ��
 �����
 ��%�	��� ��	 %�
������ *�%�	��
��

�� ��	 γ������ ��
���	��� *� "�����
	�
������	���
 x < 0, 1 ���� ����� (����	�
�)�	������

���������� ���	���
� ��
	 '�	
������ A(λ > λα/β, x < 0, 1) ≈ A(λ > λα/β, x = 0)�

�����	� ��	 ���
 ��	�
 ���	 '�� ��	 @������� ������	
� ����������� ����
���!�������� �

����� �����	�
�� 
�� ���������� 
�� ���������������������� ε� ��� 
�� �	��
������ ������ ����� ��
 � �!�
"�	�� A = εd · ρ

M · x = s · x ��
 �#� ���$	� #�� 
�� %������� s 
�� α/β&�#�
� '�� ���()�x������1−x ��
*��+��#���� ��� ρ ��
 M #�� ,#+�		�  �� 
�� ���������������������� �� ε = 390 
�2��	−1

AA
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�� ���

�������
��������������� ��� ���������� ����
����� ������� ��� ��������� ��������!��"�

���� �
��	 #
#� ���� $�%#� �
� ���������������� "
 �����&
����' ���� �� ����� ����	
��


�� (�)* ��� ����� ��������	��' ��� �������� ����� ������� ���� ����� ��	���	�� ���+��
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δ (����) ��	 T ≤ 180%' ,���
�� ��� �
� *�����#��#��������
� ��	 ���	���� #�����

��	��� �;�	�<;�#	���� �� �� � ��	 T > 240% 
��
	��������	 
�� �� ����9 
�� ��	����

%����=���$ $;�������	 ��� 	��#�>	��#�	 *��	
��	����	��'

���� 3"������ ��	 ����
������� ��	� �
� *�����#��#��������
� ���������	���� �
	�����

����	9 �� �� � ��� ΔX
(12)
δ /ΔT = −0,41 ��−1%−1 
���	���#� ���	 
�� ������� �� ��
	�

���� ���� '������������%�

������� ��� δ
������ #�����


��!��%���
�������� ,-� .(�� ���
/01�" 2�� ���������� &
� X

(12)
δ

���� )�������� 3�"�45 ������ ���
+���� ��� #�������� �6"� &��

������" ������������ ���� ����
)��7 ,
�����8��!�� 9������

�������� ��� �������
����
���"
:������������� ,-� .
	�
���
�
��� ����
�����
� �#��;� ����
����,���� �����!�������" *����

��!
���� )������ ���� �������
����" �
� ��� ��� ��� ��� �
�

����

��
�

����

����

A
����
δ

��7#
−��

�

#�	$���%&�� #� �'�

/�0��$����

%��%�!&%����
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��� ������	
��

��� 
�� ������� �������� �
� ��� 
�� ��������	���������

���������	 
�� �
�� �ΔX
(12)
δ /ΔT = −0,17 �
−1 �−1��� ���� ��		�� ��� �������� ��� ��	

��		������ �� ��� ���	��� ��	��!" ���
�����	 ��	��#	�	� $%�������� &��������#!�'���	(

��!�	��	�� )�������� �	 �������� ����	�����	 *�	���������	 ���	� ��� �������� +�	���� �!(

��+�	����� �(,�'��� �	 ��	 �	������	��	 ��	����	 -�.�����������	 !����$� ��	� ����	����

)	���
�	�$��/�� 
�	 0�������� ��� 1��2��
.������(-.�����	 !����� -����������
��� ���.�(

��� ���� $���� �������	�� ���� ���� ���!�� !�� 150� 	��� +�� ��� $%������� ��
��� �	 3*4�

�5�������	�

6����$� ���� 	��� ��� )	���
�	�$��/����	���	�� X
(12)
α/β !��������� +����	� &�� �	 ��� 
�	(

2'���	� ������ ��.����� ��+/�	� ��� ��� α/β(,�	��	
�5�
�
 �
 *7� 2'� 1�
.�������	

�	������! ��	 ∼ 270� ���
 ��2������ �	� ��� ,����

�	� ��� )	���
�	�$��/����	���	(

��	 ��
�� 	���� 
������� �� �������	�� 	�� ��	� ����	�� 1�
.�������!�/	������� ��� α/β(

,�	��	.������	 �����	��	 ��� ������ ��.���� ��� �	� �,���8!"� !����� X
(12)
α/β !�� ���
��
(

.������ ��	� ���� )!���/�$�	�� -�+��� 2'� 3*4� ��� ���� 2'� �
�� ��� X
(12)
α/β (285�) ≈

−81 �
−1 �	 ����� 9!����	���

�	� 
�� :��������+����	 �-��;�"� 7
 0�������� 
�� )	(

���
�	�$��/����	���	��	 ��� δ(,�	��	 !�� ������ 1�
.������ X(12)
δ = −200 . . .−180 �
−1 

+��� ��� 
�	<��� ��	 &��������#!�'���	 ���� ������������

6���

�	2����	�

��� ,����

�	� ��� )	���
�	�$��/����	���	��	 X
(12)
δ ����! �	

3*4� !�� ���
��
.������ ��	 ����� $%������� !$+� ��	�2��
�(

�� -��������	 ����� �	���
�	������ -��+�	��	��.���	���� ���

�%���5%����..�� ,��
 )!�'���	 ��	� ��� )	���
�	�$��/� �	

!����	 *�	���������	�

������������� 	
������
 
�� ���������������� ������� �
�������� ����	����� ��
���	��
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��� ��������	 
�� ��
������� �� 
�� ���������������� ���� ��
 ���� ��

�����  ������
������ !���"������#��	����� � � � � � � � � � � � � � ��

����� $������ #�� %�����������&����� � � � � � � � � � � � � � � � � �'

��� (��������)*�+����
������� �� $��

����	������ � � � � � � � � � �,

����� ��������	 #�� -�������
 ��
 ����������
T1
.����� � � � � � �,

����� /�
������� �� 
�� ������+	���� 0�+�������� � � � � � � � � � 1�

����� 2��3�������*	4�������� 
�� ��)���������5&������ � � � � � 1�

��� ���������� 6�7������� �� �������# 
����������� 8*�3��9�� � � � � � 1:

����� $������ 
�� T1
 ��
 T2
.����� 
�� 8����3����� � � � � � � � 1:

����� .������������� 
�� 
�������	�� -��&���� � � � � � � � � � � � 11
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��� �������	
 ��� �
�
������ �� ��� ����������������

���� ��� ����

��� ������ ��	
��
	��
��	� �����������������
� ������ 
�� ���������������
� ������

�������� ���  ���!�� "����� �� #����	��
$�% &
������
$� 
�� ��
�	��
$�"�
��� �' 8�18(�


�� �
��� �
!� �������!�� �
��	� ������ M ) 130,23  �
�−1 
�� ��!���� ρ ) 0,833  ��−1

�* �+ ��� ,������ �+��+ -�	� �������	��!��� 
��	 �!�.�� 
� ������	�� �"�����
� -+� 
��

/+�� ��� �� ����	��� � �	�����!�� 0���	�!�����+ ����� .�	��� *�	
	��!�� �
	!� ��� 1
����
�

��	 2
����
������ (��3	
���% ��� ��!� ��� ���� �����4��� ���
��% ��� ���� ��� � �� ����

	��!�  ������	� ����	���� ��� �
���5�� ��6���� ���
��+ "�� 7��
���� ������ ��!� 
���	�!�������

!�� �
�	��
���
��	� #����	��
$�	5!���� ��
����� ��	
��
	��8 ���� ������ �
 + �	��������

&����� .
��� � �� ���� �
	 7�� ����
� ��� � 93���:�%3����%�!���%�����;+

-� <
� ����� �
�� ��� ���2� *
� 1	
�
���� 
�� ��
��	
����=�7 ��	 ���>
�� ��	 ���	��!�

 ������	��� ���	
��� 	
��� �� (����
��	��	��� �����������������
� ������(�� �
2 ���

(��������� 
���	�
!�� 
�� ��� �����	�!������ ����� 25	 ���� �
� 9�!���; *�	 ��!���

.�	���+ ����� ��� ��� "������ *
� 1��T1�7�������
�������� ����*
��% 
� �
 ����!������%


� ��� ?�.� 
� ��	 (��3	
��� �� ���� �����
 .�� �� ���� �
2 ����	 ����	�� @�����

���� τOH ��� ��� ��	
��
	���� 7�������
� τα �����6����+ ���� ���� �
	!� ��� "
2�����

*
� @.���@������&
		�����
��2
����
��� �
�4����!� 5��	�	52� .�	���+ "
A�	��� �4��� ���

�*
�
��
�������"��4� � ���� ��	 &
		�����
������ 75!��!��5��� ���5 ��!� ��	 3�
���	�� ��	

���	
�����.� 
� �
+

����� ������	
����
� �
����������
�����
�

-� "�����
� ��+� ���� 1�� 
�� 2��T1� �
.�� 2��T2�7�������
�������� 25	 �����(� �


�����% .��!�� �
	!� �����!�
� 
��	 <����B	��	�!�
�1
��2
� �� �������� .
	���+ ��� �
�
1��=�7�����
� �� �	�������� �����3����	�7�������
�������� ���������� ?���	4 � ����	 1	
�

�
���% �
!� ���% ��� ���	
����	
�
��% .��!��� ����	��� � �
	 ��� ����� "����� *
� 1/18 �� ��	

3������������ ������� � ���% �
 ���� ���	 �� #�������!��� ��� ?�.� 
� ��	 "��������� ���


��!���� .�	�+ @
� C�	 ���!� ���� �
�4����!� 1	
�
���� 
�� ��
��	
����7�������
��������

25	 ���� �
� 9�!���; �� �������+

<5	 �����(� ��� � ��!� ����
 �
 �����(� ���� �	�����!� ���
��������� T1�7�������
� 25	

,����	��
	�� ��� �
	� 
��	���� ��	 3���5��	 �� ������	��
	% .�� �4
6 ��� ����	 ��
�	
�

��� 7�
	������	
� ��	 (��?���
� ��!��� ��
��!���� .�	� 9�!�D:;+ <5	 T ≤ Tg �4��� � μ

��� !�+ :%� 
�� �
!� T2 ≈ 0,2�� ��� �
������+ ��� �����3����	�7�������
������ ���� � .��

�� �	 ���	� ��% *�	
	��!�� �
	!� ��� E��	 �� *
� 7���������� 〈T−1
1 〉−1

�
� @���������

〈T1〉 93��D�;+ -� ?�	��!� *
� !�+ �F: ��� 220& ��� ��� ����������7�������
������ ������	 ���

10 ��% �
 ���� *
	������� =�!���3���!� �.�!����� �������	
� ���	 �!����� ��	24���+ �������

/�
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��� T1����������� �� �����
�� ��� ���� ��������������
���
����� ��� !������� T1�
�νL ≈ 55��"# � $���� ����
������� T1� �νL%46,5��"#

� ��� T2�����������$"�����
� � ��� ������� ��� ���

�$���	
���� &���� �$� ���� T1�
'��(���� ��	
 )���	
��
 �* +,�
�� -���������� ��� �* +.� 
��� ��/0� ����������� �'1�
!�������� $��� �����(���$	
��
����� ��$ 23��+��4 ��������� 
5�� ���
���	
 $��� /0� *6+� '���
(����� $���
� /0� 1�� ��$ ��	

2��T1�5����� ��$ 27	
++4 ��$
����� &����� ���
�"��	
��� ���
!/��� ������ ���� ���$	
�����

��� T1,min�!�$����� �� 
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� ����(')
� � � �  !��(')

��(*�+

�

���,����&�� �� ���

 �(*�+

���

��� �� �-�� �

� ����(')
� � � �  !��(')

μ

�

��������� 	
���� �� ������ 
������ ���� 	���� T1������� �������� �������

���������� ��� ��� ������ ��� 2��T1������� ��� ����� ! ��� "#$�� ! �� �������

����� ���	����� %������& 
���� ������ ��� ��� 254� ��� T1,min ≈ 2��� #��� '���(�� ��� )���

����������*����	��� ��� T1�+���,������-����� ��� ��� �� ������� "���" ������������� �������

���.��� ��� ����� ��
/���� βCD .%� ����� ! ���������� ��� "#$�� ! 0����� )������ $$�$1

��� ����� ���� ��������� ���������� �� ������������-������ !�� -����� .���� 2�����������

δQ ������ ��������� ��� 2���������-�� ��� 2π × (±3) 	�- ��� ��� ��� "#$�� ! %�������


��������� ��� ��� ������ ��� 1��3����4����� +���,������-����� �� ��� T1,min ������ .%�

���� ��� ���� .%� "#$� �� ��� -��� !�	���� ��
/�� ��� �� ��� .%� ���� 5��
������ �����

���� 	�������� !�����!��������������	��������� δDD = 2π × 23 	�- ����� 63+7�8� ���*�-����

����� ��� -������ ������� ��� ��� 145� ��.9 ������� ��� ��������� 5�3�+������� -���������

������ 	��� 6:
�7�8� 2%� "#$� 0��� ���� .%� $�
������ 64��$;�9<��$$81 ��� ��/����� ���

:������� ��� 1��T1��������� �� ��� 20� -� ���.���� )����������� ����������� !������

τ0 0��1 B 0�1 T0 0�1 δQ 0"π×	�-1 βCD η

"#$� =;(1) $$""(1) $;7(1) $>>(2) ;9�>(2) ;9$>(2)

���� $?;(3) $=?@(3) $;?(3) $>" ;9>; ;9$�

���� ����� �'1�!�������� ��� $���(�������� ���������� /0� ���� ���
*6+� ��$ �����(���$	
�� ��$$��
�� 2)��++4(1) 23��+��4(3) ��� *6+� T1�
'����������� 27	
++4(2) ��� ����$�8���
(��� 
����� �$� ��� ��$ ���7��(����
��
���$��� �$9���������������� η 
��"�
�/0
� �$��
� ��������
 *+ *� 
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��� ��� ���	
�� ��� 
��������� ��������� 	�� ��� �������� ��� ��������������� ��� ����

����� ���� ����� ���  ���������� ����� ��������! "���� ���	
���� #���� 	�$ ����� �����%

���� &�����	�	 ��	��� ��� ��������� ��������� ��� '�%(����� "����)���� ��
�� ����� ��� ���

*������� ����	
������	��� 
�����	��! ������� 	��� ��� ���	
�� ��� �������������� ���"���

����� �����	
 ��� 
���
������	�
��
�

+�� �� ,	����� -���- "�������"��! �.���� 
�� ���$� /�� ���
�������� 0���%0�����
����� 1��%

"�����	
���� �
�������������% "�� *�������"������ 	"���	���� ������! ��� �� ����	�����%

��� �������������� �"���	�" ��� (�	��"���	�����
���	��� Tg ��	��� ��� ������������� 2�
%

���	����� ���� ���
����� ��� "�3������ ��� T1%4��	�	���� ����������� F2%0���	
�������� ��


""������ 55�- 3� ������

��� 4���������	���� Z(tm > 10 ��) �� 6	7 ��� $�� 589 "3�� 170, ���� ��� �
���3���� ���� ���%

����� 4������������� ��� '�%��������	���� �� ����%'�� ��� ���$��� 2�
���	����� �	��

"�� Tg! ���3���� $�� 150,! ��� ��� ,�����	�����3��� �� ��� (�.:��������� /�� T1 ��� "����

&����� �"���	���� ����! �� �	�� ���� ���	�� 
�	���� ��� 4���������	���� ����� 
.����� ����

0��� 
��	����� ��� tm%	"�������� 0���	
�������� ������ 2�
���	����� �	�� (��������

6-�-;7 
�� ����� /�������������� 4���������	���� Z = 0 ���$��� ������� ���� ���� 0���"���%

�� 6/���� <����� �� 
""������ 55�-7�

��� ,�����	�����3��� τc ���� ������ 
�� 3����
����� 2�
���	��� 	�� 	��� 
�� ��.:�� ���%

������ 0/��������3��� ���3�� 6
""������ 55��7 ��� �	�� �������������� $�� T < Tg ����

tp > 100 �� �
 ������
�������� ���"	�������$������ 6����= 10 �� > 1 �7 ����� 
��� ����������

������� �	"�� 3���� ��� '�%���	
�� /�� ����%'� �� ����
 lg(τc)%lg(tp)%��	��	

 6	7

$�� ��� ������������ 2�
���	���"������ T > Tg ���� t
−2
p %
"����������! ������� $�� ���� ���%

����� 4��	�������?����� ��� '�%��������	���� "3�� ��� �������� 6����� ,	����� -���-7� ���

2�
���	���	"���������� ��� ,�����	�����3��� ��� $�� ���� 0/��������3��� /�� tp @ 20 �� ��


""������ 55�� 6"7 �	����������

��� &��������	���� 	�� A�4%��������� ���� ���3�� 	�� ��� ������������ ������������ α% ���

��"��%4��	�	����3������ 
��� 
������� ,�����	�����3����� 〈τc〉 �	�� (�������� 6-�-B7 ���
%

�� ����� ��	�� 
�� τα �"������ 
�� 
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-�����
��!�	 ��� �������	��	� ����
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�	 12�
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��	 #	����������	��	� �	� α
 ��� (	
2	
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A(λδ) �%�%�� �� &$' (��� �)*" 
�� +&,"- ����� ������
�� *+�, (�. 
�� (�.. ��� �
�� ��

/$' 
�� ����� ���	 ��� 0
����� �	��� 1������	%2�����������
������ "3��%�3���
�����

4���
���%����
����

��� �������	
����
�������	�� 5%� ���������� 6��������
�� δOH(T )- ������	������� �������

��%���	
��� ΔεD(T ) 
�� /$'� � �� &$'����%���� A(λδ, T ) ��
	�� �
� ��	 �����������

�������	
� ������� ��������� �
����%���
���� 4	�
�	
���� ���� ��������	 �����  
 �����

#�%7	��� �
� �%�	�� 
����
������ &%�%���%�%��- ��� �
��� ��� �	���� ������� ��� α/β�

����� 5����
	����	 ����� ���
��� ��	 
�	������ 5%� ∼ 250� ��� �� ��� ������ &%������ �	���

���
 ���	 
�� ��� �������	��87� ����	 �
� �%�� �
7��  
�

9�� :�%�3�����3�%� (:#.- ��� �
���
�� ������ ������ !"�#�
���� �����	� ��� '�
�	���

����	
� �
� �� �������� &�7� 
����
���� 5%�����	- ����� ����	�� ��,- ��	 ���� �� 6��������

 
 *�:�%���%� �������� 6�����	���
����
�� ��� α/β������ ���� 250�  
 ��%����	��� $�

#�3���%� ��������- ��� �� ������ :# �	
���� 5����	 	 ��	 (������
�� *+�* (�..- ���� ��� �
�

����%���
���� �������	�%� ���� �������� ����	 ��
�	�
������ �
� �%�	�� ������ &%������

�	�		;���� 
�� ��� ��%����� �� A(λα/β) ��� ∼ 250� 5����������	�

$� ��� ���
��
��� �����&����
�� (/&9.0,6(/&�.0,4 	�
��	 ���� 5������������ 6�����	����


����
�� ����� ��� α/β� �
�� �� ��� γ������ ��� ����� ��
	���� �8����� �������	
� 5%�

��� 320� �
� (����	�� ��+��.� #����� ��	�� �������	 ��� "�
�	���%��	�%� ���
������ /"�

#�
���� 5%� ��� o�  
� δ������� �
� ������ �����&%������� ��� ������� ������ ����

������� ��5%� 
�	 ��87��� <�
�	�� ���� �
�� !���%����� ������ 

7���	 �%������ 4����	%��

������	�%��5�����	�� 5����
	����	 ��� /%	���������	- �
�� ��� ��� ��	����	
�� 5%� ������

��	�%��5%��
���� �� &%�%���%�%��� �������� 1������	%2�����������
����� 4	�
�	
���  


����������	�����

������� ����	
���� 
���
������ ���
��� �����������������

/���� ��� �%����;����	�� α/β�- γ� 
�� δ�������������- ��� ���� ����� ��%7�� ����

����	
�������� �����
	�� ����	�; ������ ����- ��	 ��� 	��������� )�	�����
�� 5%� ���������

�������	�� ��� ������ %��� !���%���� �
���
�� �	��� ������������� ������ ����	 	��5���

�� /��������%	����	�
� 5%� &%�%���%�%��� �� 
������ ��� �������
�� ��� 9�
��� F 
��

	������ 5%� ��2���� ����	��� ΔA(λ, T ) = A(λ, T )−A(λ, Tref) ���	�	  
������	 ����� ���	��

����	 - ����� ����	�5�� ��	��� �� ���% ��	�%��������������	  
 
�	���
����- �� F �����%

��� ��� ���%���� A �����	 ��%�%�	�%���  
� �� ��� �� !"�!� ����	%��� ��	�

=� ��� )��>
�� ������������� ������ �
� ��� π� 
�� o����%���� �� �% ������ ��� �8�����
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���� ����� ��� ������	
���
���	 ��	 ���� ��
������ Tref = 185�� ��� �����
����������	� ��� δ���	��	�� ����� 
� �!����	 "����������	 ��� ����� ��	�	

#$��� �	��������� %����������� &�	��	 
�		
����	�	 ��	 '	��������	��������� ���

��� G �	� L ���
�����	 (�)���	 �	������� ��� *��
���	 ��	� �	 ��� ��� (�	
���	

��� "��������� ������������ ����	 $�� +,-�. /0+� �	� 102� ��	� ��	
���$����

��� 1440 �� �����	�
 ���� ��
�	���� �������� ��� α� ��
 β���	���������
 ��� ������������


�� ������ �������	��������� ��� T > Tref ��� 
�� ��������
�� �� �
�� ���� ��� ∼ 1535 ��

��
 
� ����� 
�� ����!������ "���������������	�
 �� ������� ���� 	!�� #������$ 
�� ���� ���

���� %����
& '�!���( ��
 ���� %����
& )������( ��	������� !��
�� ��
 
���� *����������

�������������� �� +����
��� ,-
- %�( ��� 
�� .����������� ���/$ 01,/$ 2.0/ ��
 -.3/


���������� ���

 +�������� ��� Tref = 1854 ��� ,�������� ������ 
�� 5������	����������

1804
 +����
���� ��� 	� ��������$ 
��� ��� 6��� ����� ��
���� 5������	���������� ���� 
��

7��������� 
�� .�8��� �� +����
��� ,-
- %�( �����
���$ 
� �������	�������� ��� ����	�
�

��������� 9�
������� !�
�� �����


6�����
 ���� ��� ���/ ��
 01,/ ��� ��
 3504 ��� .�8���� �� G(T ) ������$ ���������� 
���

��� 	� ∼ 3304 ��� 2.0/ ��
 	� ∼ 3104 ��� -.3/
 .�� 	�������
�� ���������� /��
�����


�� �/�'�����  �
�� ���� 
�� +�	�����8���� 
�� 
����� 6������������������ 	������


� ������
�� ���������� ��� �������� *����������� !��
��
 ��� #��������
����� L(T ) !��


���� +������� ������� ��
 ��� ��� 
�� ,���� �� ��
 2854 ����$ 

�
 ��	������ 
�� +���	��������

��������!������ ��� Tref = 1804 ����� 
�� +����� �����������
�� +���	���� ��� ������
��

*��������� ��� ∼ 2854 	�
 #�� 
�� .����������� 2.0/ ��
 -.3/ ��� 
��� ���� ��� ��


2404 
�� #���


��� �������� �����
���� �/�'����� ���	:���� 
������ 
�� ��������� ��
�	����� +����������

	� ��:;���� <�������
 +�;��
�� ���
 !�
�� �� G(T ) ���� �� L(T ) +�	������ ����� =2504

+�������> 	� ��������$ �� 
��� 
���� ���������� ���	�� 
���� 
�� +�	��� �������
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��� �� ����	
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 ��������� ��������������������� p ���� ��	
 ������� ������� �� ���

���
����� H ��� �������������������������������	
����	
��� �� ���������� ��������� ��� H

���  �! "#� ��� $%�����
��� ����� &'����� ��� ������� ���	
 ��� (��������)����"��������

��� *������ ������� U �

H = U + P �r3 +
��,-

��� ����	
����	
� ����	
�� ����������� ��� ������������ ���� ���	
 %�!��� ���.#��� ����

%����� ������� ��� ����� ���������� ������� ���� ��� /�����������
����� ΔH �����	
���

��� ��� #��� ��� )��������� ��� ��� ����	
����	
������������ K �����#�"�� ��� ���������

����� ����	
��� ��� ��	
 ��� �������%����	
�� 0
������ ���1� 2�3 ������� ��� ���� ���

���������� ���	� P �

�����������
K⇐====⇒ ������������

lnK = −ΔH

R
· 1
T

+ ������ +
��4-

/ 5 8,314 6���−17−1 ��� ��� ���������� ������������� 8���� ��� ����
��� ���� �� ���

��� 9�#�������� ��� :���������������	
����	
� ����	
�� "�����  ����#��� ��� $��������3�

��#	�������������� 2'���;'�������� �;�������� ���� K ��� ��� α/β� ��� δ�<�������;���

�� =�
��"������������� �����	
%��� ������ >$��??@�

ln
A
(
λα/β

)
A
(
λδ

) = ln
[
p−1(T )

] ∝ lnK +
���-

 ���� ��� ��� �
�����	
� �����	����� ��� A(λα/β, δ)� �� "���� ��� ��� &������� �� �����

ln [p−1(T )]− T−1��������� ��� /�����������
����� ΔH�

ΔH(T ) = −/∂ ln [p
−1(T )]

∂ (T−1)
+
��A-

*� ��������� 
��A +�- ��� ��� )�����������
%�������� ��� ln [p−1(T )] = − ln[p(T )] "#� ��	
�

 �������
��� ������������  �� ��������� )��������� ��������� ��	
 ����� ��B!� ��� �����

�� T ≈ 2507 ��� ��	
 ������"#��� ��� ��� ��������� ��� ln [p−1(T )]�7����� ��	
 ����	
���


��A ������ ����� ��� C���� ���������� ΔH = 1 . . . 2 �6���−1 �����
��� ��� ∼ 2107� ���
�

��������� 
��A +�-� ��� "��� �������� ������� ��� ��� <������ ����� ����� $��������3��#	��

���	
 ��� 2����"#��� ����� ������������  �������
��� �� ������� �����
����� &����������

����� ��� ����� ��
� ������� ���� ����%���� ��� ���
������ �������� ��� 7������ 
��,� ����

�����
��� ��� ∼ 2507 "����  ����#�� ����� /���� ��
� "#� ��� ��������������� �����������
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T−1� ��� T > 320� ����� ��� �� ��0,6�� ��0,4 ��� o!"�������#���� ��!
��	$	� %�� ���	��

��	�� ������ ��������� ��� $�� "���

���� ��� &������������!

���� ��������	�� '������	�������

�� ��� (���	������	
������ ��� �� ��� ��!

$���	�� )���	��$��� %�� *���� �+���������	 ���� ,��
��	����������� ��
� 210��

��� ���� ���	��
����
 ��
����
 ���� ��� ��
�� ��
����
��
��
�	�� ��
 ���� 
�� 25 �����−1
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�� ������� ��� ��
� ��������
��� �
�������� ����� !"� # 63 �����−1$ �%	������ ����

��������& �
 ' ����
������
� ��� (��� 
����
 )*+* ��� ",-��

�� �.
�/0�* ��� 1234 �
�

5264  ���7�� ��� �
8��
�� ��
����
��
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�� �
* ΔH ≈ 21 �����−1& ��
 9
���
��� ���

������ ����7����� �
�������� �����
 �
 )%�������
 �
� ��
��:�����
 ;�����
��
 �<

0= �*

;��� ��� ��� ����
�7�� ;���,2�����
� ��� ��� ���	��
���
 �7
������� ��� ��
����
��
��
�,

	�� �
 ;  ����
� "5*1 ! $ ��)����* ��� ���	��
����
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����
� ��
 210> 
7���� ����ΔH ��
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 ��� 2�
�
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* - ���
� ��
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�����	��
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�� ���� ��� ���� ��� ��� T ≥ 300� ����
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���
����������� ��������� ��
� ��� Emax = 2 �� �	�−1 �1 �� �	�−1 ��� �����

��� ���������� ���� α/β� ��� γ���������	��� ��� ��� !������������� ��� ��������	
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"��	�����	���#���	�����	���$���
���%�
���� ��� T ≤ 207& ��� �	
� ���� �������	������

'	��� ��������� %	�������� ����� ��� #����� ��� ����� ��������	
���
����������� (	�

E ′
max = E(λπ)− E(λδ) ≈ 5 �� �	�−1 �����(�����%	����
� ����)

#�� ��*������ ��������	
���
������������ (	� +,-� Emax(+,-�) = (26± 4) �� �	�−1 

.,/� Emax(.,/�) = (26± 2) �� �	�−1 ��� -�0� Emax(-�0�) = (22± 2) �� �	�−1 ���

T ≥ 300& ��%) Emax ≈ 1,5 �� �	�−1 ��������� (	� 200& ��� "�������� 0.)1 �������

��������� ��� 2������������ �������) #�� '	�(���
������� ��� ���������� �	����	��� ��� π�

3���4��� (	� .,/� �� -�0� ��� 
�) 20 �� ���������� ���� ��������� &		������(��4� ���

#����� �� ��� ������
� ����������� ,	�	���	�	���)

2�� ��� "����,��
���� �!,2�0,6�!,"�0,4 ��� E(λ) 	������� (	� 360& ��� ��� T ≤ 230&

�� 5���� (	� "�������� 0.)1 ��� �������) ��� 6������
� (	� �	
�� ��� 7�������������������
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����� ��� ������ �����	 %�� ��� ��� 8��������� ��� '�����	����������� ��� �� 6������
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��� ,	�	���	�	��� �� �9����� 7����������� (���
�	���� "��������	��(	��4���) #�� ��*��

���� ��������	
���
����������� ����4�� E∗
max = E(λγ)−E(λδ) ≈ 14 �� �	�−1 ��� ����4����

��� ��� ���� !����������	
���
�� �� �������� '�����	����������� ��� ΔH = 12 �� �	�−1)

2�� T ≤ 230& ��������� ��
� Emax ��� �����4�� 4 �� �	�−1)
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������� 8γ9 �:�	��:��	���� �� �� δ
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2	�����
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�����


��	 ������	��# ���! ��� ��������� *1!<! "������ �����	���� ��


 ��� ��� ������ Γ ��� γ
'��������	�� ��� ���� ��� ����� �� β


;�������� B ��	 $���� ��� �����������
4����� N # �!�! Γ = B = N ! 6�� ��� ���������

������ Δ �� ���	� /����	���=�	%����
���������� δ
'�
2	����� �������# �� ����� ��	

-����	 Δ/Γ ��	�� ������ �� ����� �����������
4����! "�	�� 
�	%������������ ��	 ������

������������ β
 ��� γ
'�
2	����� �	���� ��� ����������� ��� ������	� ���	�����	���!

〈n〉 = Δ

Γ
+ 2 8*1!,9
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��	����� 2����� 8*!?9 ��� �������# ���� ��� ����	���� A ����	 6��	�


	������� ��	��� �	���	������ ��	 4������	����� ��� ����� ���� ��	 ������ ����	���	����	

'��������	�� ���# �!�! A(λγ) = IΓ · Γ ��� A(λδ) = IΔ ·Δ! "�� &	���	����������������	�� IΓ ,Δ

�����	����� ��� @� ������� '��������	
$��	���! /�� �� 4������ A ������	��# %��	������ ���

α/β
 ��� γ

����� � ������ *+?0 ��� 1450 �� ���	� ��� ����	 νs(CH3,2,1) + δ(CH3,2,1)

4�������������� ������# ������ �����	���	����������� 6��������� UΓ ��� ��	 
�	�������

��� 〈n〉 ��	%����������  �	��� ����! ���� �� 
�	���� ��� δ

������������� ���� �� �����

�����	���� B���	�	��� UΔ! 6� 4���������� ��� 2�������� 8*1!,9 �	���� ���� �����

〈n〉 = IΓ
IΔ

· A (λδ)− UΔ

A (λγ)− UΓ

+ 2 8*1!<9
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	 8��������� C!(9 ��� B���	�	�������	��� �� UΓ ≈ 0,06 ��� UΔ ≈ 0,01 �����������

 �	���! "� ��� 6��������� ��	 νs(CH3,2,1) + δ(CH3,2,1) 4�������������� ������ D���� ��
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�	������� ��	 ������	�� ���	�����	��� ��� &	'� ��� +#,"*' F�	 ������! "�	 �����	���

B���	�	��� ��	 δ

���� ��� �%	 ����� ������������ ����� �������#  �	� @����� ��� UΔ ≈ 0,01

������ �� 
�'� ��� ()*� ����������!
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���� �
 �������� �������� ������ -�� RD
H/RvdW ≈ 3 ��� 213A �
� ���
��

���� ���������
 �	� ���� 
� ���, ��� ��
 +�� -����������� ���������� 〈n〉 ≈ 6! 
���� ������
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�� ���  ���
���
�	�����	� τ1 	� T1�!	�	��� " 
#	���
����$ 	�� 
�� %���� �	������&��� �	� ���
���	������ '	�	� ��#�(����	��� Rα

H(T )) *�����
�	� �	��� 
� �	� α�+!,�-�	������
���� 
��
��#
����� ./0�1��	����� ����	��� *�����
RvdW"+!/$ 2 2,83 	�� 
�� ��#������� '	�	�
�	�����	������ RH �&� +!/ �	�  �����
�	����
��	��� 
�� 14� ��� 15+�T1�,
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�
������� �#�� �����
 ,)�-). ���#�����	"

Rα
H(T ) =

√
9/2 · τ(T ) ·DT(T )

τ(T ) = 0,3 $
 · exp
(

631'
T − 137'

)
DT(T ) = 9,3× 10−8�2 
−1 · exp

(−1063'
T − 91'

)
��� �
	 �� �##�
���� (/�(0 �

 ��
	�����
	� 1���� �����
	�

	� ��� T < 210' 
��� ����� ��!
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�� ��+�
���
���2����	�� ���� ��������� ��� ��� 3�
��������	 �� Rα
H(T ) ����

�� ���4� 5#����
# ���
��  ��$���	�� 
	���	 Rα
H(T ) �
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 ��	 ��� ��
 67��89: #�����!

��	�� �����������
���� ������ ��� %&� �#����� ��� ���� ��
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�� ��� τ1 ��
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T1!&������ ��������� Rα
H = 2,4< 
���	 ���� ���
�� '����� ��� ��	 ���	���
	��	�� ���
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� � ��� 
 ����� ��� 	�������� ��������	� ��	������������ ��� δ��������

������ ����� �	����� �������� �������	��� � ��	� ���
��	 ��� ��� �
�������	��� !������

��� δ���������	����	�	 ��	 ����� "������	�

��� ��� #���
�	�����
����������	� ���������	$

%�� ���&��� ����� �������������� '������������	��	��
�( ����� )
������� *+$+,-( ��. ���

/�

�����
�� ν
(1,2)
δ ��� 0�������	�
���� ��� ��� ���	�� 1���	��� �	��� /������	� ��2�����

���������� 34����4
������� ���$ ��. ����� 5�������������� A(ν
(1,2)
δ ) �
��� ����� �

���

����� �����2������	��	$

�����	� �� ��� +6�7����� 8����� ������	� ��� 9�����( ���� �����
 �
��	������ �
� ���� ���

��������� 5����������	�	 *����� ����	�
 +$:-( 	��
����� ��	 �������	�
����� ;���������( ���

5�����	��� ��� 13�'	���������������� �����&����� <#���,=$ '� ��	 �� "����.����	����	���

��� >����
����
�� ��� α/β�������������� ���	
��� �	����� ���������	 �
� ���� .2� ���

13�0�������	�
���� ��� 0�

 ��	 <����,(����?=$

�� ����� ��	��

�� 5����	 ����	 @$ '�����.4( ���� ��	 ����������� '	���� ����� /������	� �

��2��� ��� ����������� 5����������	�	 ��� '������������	��	��
� ���A�	 ���� <'��7B=$ C�

�� ��� ����	�� �������� ��	 3�
.� ��� '���
�	����� ���� �����
�	��� �������� ��� ����� ����

/������	� ��2��� ������	�� D������������� ����� ����
��	�� 13�������� ��� ��� �� ���

.����	����	��� ��.	��	����� ��	������������ ��� δ��������������� ���������� <C�+,=$

/�� ��� �� ��
���� >�E� �����&���	 5����������	�	 ��� ��� '��������������	��� /���

����	� ��2��������������� '4�	���F

!������	 
���	 ��� 0���� ��. 	�������� ��������	�� ;������������ ��� 13�5�����������

����$ %���� 5������ ����� ����
�� �����
�����������	 ��� �
��	������� 5����������	�	

���� �� �A�
���( ��� ;����
	��� ��� "����.����	� ��� >���δ�������������� ��������	���

<)��

=$

A
(
ν
(2)
δ

)
A
(
ν
(1)
δ

) = 4χδ

1− 5χδ

(1− 3χδ)
2 ≈ 4χδ (1 + χδ) *+G$+-

%�� ����������
��� 5����������	�	�����	��	� χδ ��	 2��� X
(12)
δ = χδωδ ��	 ��� ������

������� )�������	����.��H���� ωδ ��� δ������ �����2�.	( ����� ����	�
 +$:( ��� ��	���	

	4������������ ��� ������ #�����	 <)��

=$ %������ ���� ��� ����	� I��� �� )
�������

*+G$+- ��	�����
	 ������ ��� ��� ����
	 �� /����	
����� ��� 0��	�� 4χδ$

%�� I������	�������������	 ��� 5���������;����
	������ An(ν
(2)
δ )/An(ν

(1)
δ ) ��	 �� 5���
����

+G$+ *����	� '��
�- ������	( ��
���� ��� �������� ;���
����������	 ��. 280� .2� ,�+3 ���

��. 282,5� .2� :>?3 �������	 �����$ 02� ����� >����
����
� �	���	 ������ ;����
	��� ��	

����������� I������	�� ����	���� 
����� �� ��$ 35J ��( ��� ���� ����
����� ��	 ��� 0�����

���	�
���� �	������ 5���������!������ ��� 1���	��� ���
�����	$ /��� ��� 3���	�������
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 4χδ (1 + χδ) ≈ 4χδ ��������� ���
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�� !�������� ���� ������ ������ �� ��������� ��		
 ��� !����	�����
"
 ���	 !������� ���

#����������� ���������� �� ��� ���� ��	�
 ����
 ��� 
�������� $���
 ��� ��� !��
��� %��

An(ν
(2)
δ )/An(ν

(1)
δ ) ����� &�� !��������'(����	� ��� δ')�����	�*�	� 	�
 ��������� 
�	'

����
�� ���� ��	���� ����
�"������ %�� ����� �
�������� !����� �
���  ������
�+�������'

���������� ,-���*-�������� %��������
�

.	 �� ��"���� ��������
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"
 �� ��� /�
%����������� ��� δ')�����	�*�	� ���	

!������� ��� #����������� ��
�����
 ��
� ���
�
 ����� ��������� ��� 0����������� ��� 1!��2�3�

�������� 4������������� ��5 #�
 ,���� %�� ��������� ������ ��������
 ���� ��� ���	�������

��������
�������6���� ωe(T ) �����	��� ��

ωe(T ) = 3ν(1)(T )− ν(2)(T ) ����7�

&�� 
�	����
�����"�������
 ��� α/β')���������
��� ��
 �	 8���������
 ������ !��������

9��� ��� �	 #:/ 1)�����3 ��� ������ ��� ��� ��� ������ #����������� 7;�, ��� <#=,

�����
 ���� �	  ����
������ ωα/β ≈ 3790 �	−1� &�� ��������
�������6���� ��� δ')�����
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 ��� �� !�������� �>�� ������
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�� ���
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 ������ ��� ������ �����
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���	���� ��������
� ?������� ��������
 ���� ��������@��� ���� Δω(T ) = ωα/β−ωδ(T )�

!�� �������  ���� ���� ���  ���������"������� ��� A����	��
��	���� Δν(1)(T ) = ν
(1)
α/β −

ν
(1)
δ (T )� ��������
 ������� &�� ��B@�

κ(T ) =
Δν(1) −Δω

Δν(1)
����=�
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 �������������� ��� !�
��� ��� !����	�����
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 �� ��� /�
%����������� ��� δ')���� �	

#:/ ������ A�� Δν(1) = Δω ����
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 �������� Δω� �� �
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"
� κ = 1�
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	������ ����� �!� "��#$0,6"��%��1$0,4 ��� ������� ��&���'��� %����� � (� %�������
��

�����  � ���)�	�
���* ���� �� %���	���� �+�� ���� ���	�&����
�� ��	�,������ ����� ��� �-%

��� "��#$0,6"�-%$0,4 ��������		�� .�(��	 ��� /���&��������� ��� ���0��1�� ����� τD �	�

��
� ���* ��� ����&����		�� ��	�,����� τα ���� �!� ��� ����� ��&���'�� %��� 	'���� ����	��


��� ��� ��� ���'��� ���
��0������* ����� τD(T ) �� �������
���� 2��������������
� ���

(���� ����������� ��(��
����

����� ��� ��� ����'	���� ������ ��	�,������ ����� τD/τα �!� �-% ��� "��#$0,6"�-%$0,4 ���

∼ 3 ��� 180
 ����	��
���� ��� ��� ��� ������
� ����������� �����	&���	� 4�3� " τD/τα ≈
3 − 5$* ��� ����� �
�(�
� �������'���� ���0��1�� ��� ���(���� 56���3�7� #!� ��&���'��

%���� ��� �		������� ������ (�� �!� �-�� ��� �������������'�&� ��� ���0��1�� ����� ���8*

�!� ��� �����	&���	 ����'�� τD/τα 9���
� 102 − 103� ������ &	���� τD/τα�����'	���� �!� �-%

��� "��#$0,6"�-%$0,4 &)���� ����� 	�����* ���� ��
� ��� -��� ��-�������	��������&���

	������� %����
����� �
���		�� ������������� #!� "��#$0,6"��%$0,4 ��� τD/τα(182
) ≈ 15 ���

(�� ��)8�� ����	�
��� ��� ��� ������� %����.0������* �		������� ���� ��� �� %���	���� �+��

������
��	� �� ��
����� �#2�:	��
���� ��� 
�����	 ���� ��� ����� ��� ���8�� ����
���������

"���� ��������&�� �!� ��� #��$ ��	������� 2������������	��� ��� ����&����		�� ��	�,�����

(����� %�8����� ��� ��� -��&���	��� ������ /���&��������� �������������'����� .� ��� �!�

�-% τD/τα ≈ 12 ��� 286
�

����� ���	�&����
��� ��	�,������ ����� ���� �� %���	���� �+�� ��
� 
����	������ ����� �!�

��# ��� ��% ��� 1��* 13;� ��� 15��������������� ��������		� 5.��<=7� >'����� �!�

��# ��� /���&��������� ��� 6�(������� ��� .��
&���?� ��� >��������?�%���� ��� ���

6������ ��� ����� %&����������������� ��� EA = 19,7 &@��	−1* ����� :	��
���� "���+$*

�������
� ����* ���&����	� ����� �0����&�� �� ��%A ��� 6�(����� ��� 1������ ��� �����

���� ���� ����������	
� ����
����
��������� ��� ��� ��� �����0,6
�����0,4 ��� ������ ! ��� ���
��� �"#�$� %�&' ��� �����0,6
�����0,4 ��� ����() ' 2*�����
+������������� ,-� �����0,6�����0,4
��� �%%�����. ()'/ ��&�� 1*� ��� 15��
����
������������ ��� �*�0�����.
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�� ��	 EA = 22,5 �
���−1 ��� ���	����� ��� ��� ��� ��������������� ���

EA = 20,4 �
���−1� ��� ������	�����	
 ��� 13�����	��	
� �������	����� ����� ��	�  !"�

#������	
 ��� τ0 = 1,18× 10−13 �� T0 = 116,9$ �	� B = 674$� %	��� ��& ��	�� �'�(���	

)�������� ��� ��� ��*�
�	
 ��� +����	��	
 ������ *�� ��& ��� ,-����	( ��	 .����������

/�'���	 �������

���  !"�0�������� B = 670$ ��� "����������/��	
�
���� ��	 τD &'� 1+2!30,61+2�30,4

�	�������� ��� ��� 13�����	��	
 �	 +2! �	� ��� �� ��*� 1/3 ����	�� ���
�����	 ���

B = 905$ &'� +,�� ��� �����
�	(�"����������	 *�����	 ��� T0(+,�) = 133$ �	�

T0(1+2!30,61+2�30,4) = 137$ ���� ��	��	�	��� �/� !'� ��	 ��	���	��� τ0 = 5 �� ������

��	 &'� 1+2!30,61+,�30,4 B = 779$ �	� T0 = 129$� ��&
��	� ��� ����	�	 �	��������

��	 "���������/������� ��� ��	� �	��4�� ��	 τD(T ) &'� ����� �����2�����	
 �������	
� ���
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�	
 ��� 0����	� ���

+����	��	
 �	 +2� 
�� ��� τD(T ) &'� 1+2!30,61+2�30,4 '/����	������	� ��� 7	�������

���� /�� ���  !"���������/�	
 ������������� ����-����	�(����	 ��	 1+2!3 0,61+2�30,4 ���
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 *������� )�����	���	��	� �������	
� ���
�	 ��*��� ��� $���������	��

(����	 ��� ��������������� �	 +2� ��� ���� ��� ��� +����	��	
 �	 +2! 	��� ��� τα(T )�

$���� ��	 1+2!30,61+2�30,4� ���� ����� �������	� ���� ��� ����� ��� .�������������� ���
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��� ������	
� ��� γ
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�� ������	 
� �
���� ������ �
� 2������������������ �� ������������� �����
������
�

�
�
����� �������  ��� ��� !���
�"	�#"����� �� ��������� �������� $�����% #���� &�����

���� ���� ��� �������� '����������� &$������ ��� ���	�������� ������������ γ�(�
&��� ���

��� ����
��
��� )�$����� ��� !**��+����� �� +	��&������, � � ��� �� -
	������ ���

.�����$����	 ��� �����	��/��� ��� 0�&��	 ���������� ���������������� *������������� ���

�����1�&� $����� �
		%

��������� ��� ������� �� ��� .����.������	�����
��&���, �
 ��	� ��� ��� ��������������

2��������� ΔωQτ2 ≈ 1, ����� +	������� 3%3�% �� ������ ��� 0�����
��4���� 2��
�

��� 5�	�63,���789 $���� ����� )�&������ � � ���� :��	&��	 �
� )�$�������, �������� ����

����
��
�� ��
�������������, ����	�����% ��� ��� ;����������� 0����	 ��� <������
	���=���&

ΔωQ �������, �
 ���� ��� '����
������� τ2 �������� $�����% +	����&����� ���1	� ��� ����

���� '����> ��� ��� .�����$����	 δΘ ��� &������� 	�������� �
	���	���� )�$�����%

#�� )��������� �
� ΔωQ ?�� #����	 �� 5��	
�9 ���	1��@ ��	����  ��� ��� 0�	������ ��� <���

����
	���=���& ωQ ?-
���	 ?3%
A@@ ���� ��� (
	��$����	 Θ ?��	% ��� 0���	���� 3%�@

ΔωQ

ΔΘ
= −3/2 ΔδQ sin(2Θ)δΘ ?
8%
@

#���� $���� ��� 0&�����	$����	�0��1�������� �������	1�����, $�� ����� ����� � � #�����

�
��� �"������� 0�"���������������� �
� η ≤ 0, 1 �� ����� �1������ �������������� ���%

0��
&����� ��� ��� ��� 2��� 3/2ΔδQ δΘ ����� ����&������ 0���
��
������������ ��� ���&�

�
����, ���� �
$
�	 ��� �������	� #�����������
� �	� ���� ��� <������
	�
��	�����
�������

�� -
���	 ?3%3A@ � � ��� &������� 	�������� ��
��
��� ��� ����
��
��� (�
&���� �	���� ����,

�
 ���� ��� 0������� � � ΔωQ ����	����� $�����,

ΔωQ

ωQ

≈
√

T2,iso

T2,min

∝ 3/2 δΘ ?
8%3@

��� ����� ��� :���1	���� ��� T2���������&����� ������� ���% 2"�������$���� �� ��� +�B�

/��
������ �
� 1μ� 5#��7C9, ��� T2,iso ����	��� �	����� �	� ��� .����.������	�����
��&��� ��

2��������������T2�������� ��� T2,min = 180μ�% 0	� ����	��� ���1	� ��� ����� .�����$���

��	 �
� δΘ ∼ 3� � � ��� ��� ����
��
��� (�
&��� �� ������	 
�%3 &���
������ γ���	�����
�%

#�� �
���	���
��&��� τ2 �
	�� ���	������	��� ��� ��� �
�������
� �
� +	������� ?
8%
@ ���

��� �����	$��� 〈sin(2Θ)〉 ≈ 1/2 ��� ΔωQτ2 ≈ 1 &�

τ2 ≈
√

4T2,min

T2,iso

?
8%�@








��� ��������	


� �� �� �� 
� ���
���

���

���

���

��


���
1

��
$%

*�
��

�+
$ *

��
'

�

δΘ � *� +,

α��
-���

�.���"��
()	�"� " � �μ(�

δΘ � *� �,
���� ���� tp���������	
�� �

 �
��	�


�
������ �������

�

 ����� �� �����������
��
 T < T (T2,min)� �
�
� Z(tp) ���
�

�����
�����
� �  ! ��� ����������
��
 �
��	�


������ 
��
� "#���������
���
�$#

��
��� � ! ���
����
�� %
��

���	
�


�����


� ��� �

 &��
�����	
�� 
��

 ���
�

����
� ��#������ �� ��
 ������#�����
�
� �� �� ��� ��������� '(�) ��! ��� ��
��
����� �)�)*!� �
�
�����
 ��� 
������+��	
"���������
� ,�
�'(- ���� ��
 δΘ = 3� ���
δΘ = 5� ��� �
��
���
��
 ��+� ��
���
���
�
�
 .���
 ��
�
��
����

������� ��	
�� 

�� ��� �
� ����������� ��
 ��� ��
 T2��
�
��� �����
�� �
�� ��
����
�����

��� τ����

2 ≈ 27μ
�

����� ��� ��� T2 ��

������� 	����� ��
�������	 ��
  ����	!
���"
 �
� �
�"�� �������	��

��"���� �
� #��"��
��
��
�������	
	��
� ��� #����
����
���"
���� Z(tp)� 

��� ���
"���	

$%�$� ������""
 �
� &�
�
����	 ��� δΘ� ���� 

� �
� '��	"�
�� �
� �������!�"�  
��"��
����

�(�
	� ��� �
� �
� )�	�"����"" ���!����� !���� *��"$+,- �
� .� &
����	
���
� ��/���� 

��

����
 ��� ��� )�	�"�����" ��� ��
 �������� ���� �!

���� N = 4 	"�
�� !���
���
�"
����

0"����� ��� ��� 1��� ��� )�	�"	����2���� �
� ��� ��� 
��
�	��� 3���	"�
�� ���� ��
��

�������� 4����
�
�
����	 �!

����  
��"��
�� ��� #5���
���� ��
����� 
� ��/���� 

��

���� ��� 6��7��
" ��� #����
����
���"
����� �!

���� ��� 

��"
����� Z(tp)�)������ #
�

 ����	!
���" ��� 3� �

 5� 
���
�� ������� �
� ��"���"��� &�!�	��	 ��
 γ�0����

�
 	��

�� ��
����
���� 
� )��
��
 �
� ��� T2 ��

����� ��������

�
� ��
 ���  
��"��
�� ��	������� �
��  ����	�"���� !����� ����� ��� )���!��� ��� #���

��
����
���"
���� ��� "��	� #��"��
��
��
��� ��
���
	�- �
� Z ≈ 0, 25 . . . 0, 4 ∝ 1/N ��	����



�� ���
 �

 �
�� ��	���

�� �����
���
����� .�
���
����	��� �
� !������ �
��
  ����	����

��

�
 ��
���� !����� �(�����

��
��"
�7��� 
�
 ��	������� ��

 �
� �
�� ��	�"�
����� 	������

���� ����
"
 ��
 γ 0����

�



�!��" ��� 8..� �"
 ���� ��� α�� 	�"���� �"
� ����� ����� �
� #5

���� ��� 3�

��
��9�

������� &
����	�� ���
�2�

� !������ �
�
 !
�� ��
���
	� ����� �
�"����

��� ��

��	��

��� ���:���!
�� �� ��	 *���$+,� �
� 
� ����;"
����� <�������� =8..�8>3? ������""
 �
��

γ�1�"�5��
�� �
� ���	"�
������� ���
�
����	
����	
� ����!�

�� ��������

$$@



���� ������	
�����
�

���



���� ������	
�����
�

��� ������	
�	�� 
�� �������������������������������
�����
���� 	�� �������
��� �������

��� ��� �� ������ �������� �����
������ ������������������� ��� �������� ��� �� ������ 	��

������������
��� !��������"#��������#�� ������ ����	 ��$ ��� ��������#��
��� ����
���

��� ������!���%����� ������ �	 
��������&

������ 
�� '���� ������#������ ������ ��� (	���������� ����
��� ��� "�)��� ��� ������

���������$ ��� ������
��� *�����	�� ����� *����%����	##� 	�� �	#�������	����� +������

���,���
�������	������ "��	��	��� ����������� ������& ��� -��������� ��� ���#����$ .	�

����� ���� /0-* ��� ����� �	���#�)���� ������!���%������� ���������� ������� ����������

1����� ���2�� +��������,���
����1��#�����
��)�$ ��� 	����)���� 
�� ��������� ��� !�	��

���#����	� �	� 
�& 3 ��������� ��������& �� ������
� ����������� 4�3* ������ ��� ���

3001 ��
�� 
��������� ������������� �	 ������ ������
�� ��������	��	��� �	��
��� ����

������& /��������� ��� 3�/. ���� 5�/* ����������� #������
� �� ����
��� ��2� �	 ������

��� 	�� ���� 6������ "	#�����	��	���&

��� �������
�� 0����
��	�� ��� .��������	��	� ��� ������ 7*�7������� ������ ���� ���

������ ��� -��������� ���� 8���
����	�� ��� �������������������������������
�����
��� 
��

��������� �	 �������� 1����� ��� ��� �	 -/ ���������$ ������������ ��� ����� (	�����

���#�����
�� 0,���� 	�� ����� ������� ��� ������������)� ��� "
�����	���#���������& ��

	�������� 
�� 
�& 2501 	����)���� 
�� ��� ������
��� *�����	�� ��� *����%����	##� 9	���

����� 	����	������ *����%����	##�� ���� 
�������� ����$ :���� ��� ����������� �	 ��6�

2���� �	#�������	����� "��	��	��� �	� �	 1����� ������� �%����������� +��������,���
����

���	������ ���������$ ��
���	�� ������$ �����& 0���#��
���� ������ ��� ��� ;����	�� ���

!��������������#�� ��� ������ '�	��������	�� ��� ��#	�����������
�����
���&

��� 4�3* ���� �� 8������
� �	 ��� -���������� �	
� ��� ��� �� <��#����	��� ���� ������

��������� �������� +��������,���
����1��#�����
��)� 
�������� 	�� ���� (�������� τOH ���

�� /0-* ������ ��
�� ���������� ������& ���������� ��	���� ��� ��� ��������� <��#����	�

����� �	�������� ������������)����������� �	 ���� =#��������> !���6,�	��$ ��������� 
��

0��
������ ����� �
���
� �	���#�)���� ��������������� �� ����������
��� "#����	�&

'���� 8��)����	���� 
�� ����������������
�����
���� ��� <��#����	�
�������� �	��� �	
�

��� 0��?	�� ����� 
�������� �������������������� �� ���)��� ���
��������� 	�����	
��& 8��

����� �	�
� (	���� 
�� ���������� ����
���� ���� ��� +��������,���
����'������� ��2�

�����
� ���������������� �����?	���& ����� ��� ��� ������  ����� �������������������� �����

���� ����� ������
��� 1������������ #������
� ��������$ ��� �	 1����� ��� ����� ������

��� ��������� ����
����������� 1��#�����
��)� 	�� ����� �	
� 1������)��� ���
�����& .��

�������� ������ ���������������������� ��� ���������� �	
� ��� ������	�����
�� '�	����	��

����������� 1����� ��
�� ���� �6���
�&

��� ��� ���
������� ��� ������������ 4�3* ��� /*-� ������ ���� �������� .����� �����

8����)��	�� ��� ��������������� ��
��������� ������& ���������� ��� ��� ������ ������
���

--4



���� ������	
�����
�

��������� 	�� 
�� ������
��� ������������� �������� ��� ��
�� ��� ���� �����������

�� 
�� �����
���� ���
����
����  !�"#0,6 !��#0,4 ������ ��� 
�� ������������� ����

��
��� ��$������������� ������������%�������� ��
���&����� &��
��� '� ����� ��
� ����


�� ������ �������� '�$������������ ��� ������
�� (��$������ ��� �����������
 ��� �����

������� 
�� ��� )����������������� 	���
������ �*
��
*�����
��� ��
���� )�� )��������

���� %�� )������ �� ��������� +�
�� ,�
�
� 	�� ����� &������ ������� (��$������ ������

&�� ��� ����� �� -������
� �� ������������� �� 70� %���
��	���� -�����������
�����

%��	��
�� ���� .�� 
������������ -������
� 
�� ������������%��������� 	��
�� '���������� ���

�������
 
�� ���$��/���� ����� '��	���������������%������� �� 
����� ��	��� ,�
�
� ��
��

�����
��

)��
� �������� �����$������������ &��
� ��� 0���� 
�� )����������!�� 
�� )*�����

%�� �	�$����� ����� �������
��� 1�����
 1���������	��
����2��
����� 
�� 2�&����� 
��

3�������������� ��� 
�� 4�������� 
�� ������������� ����/����� 	����5������ ���
 
���� ���


�� �
������� γ�3������� 	�� 
�� ���� �����&�����	�&����� 
�� 6��	�/*�� ��
 
�� 3��$���*��

���$$� �&��
��� 
��� 	�� %��� ��������
� ������
���
	���� 3������ �����+�
��� ��	�
�����
�

.��� '������� 
�� �
�&�
��� )�	*��3�������� &��
� ��
�� �����
���

��������� ������ ��� 
������� 4����������� �&��
��� 
�� '����� 
�� )�	*������/�����

�� 1���������	��
������	��
���� '�	������� ��
 
�� '������� ��$������������� ������

���� ����������� &��
��� )�� �������
�� .��&�
����� 
����� '�$������������ &��
� �	��

����� ���7�� (��$������	����
� ���
���� ��
 ����������� �� ����� ���$��/�� �������������

)�������������8���
���&�
��� .�� 4����� ��� 
�� )*����� 
�� )�	*��3�������� ��� ��� 
��

�� 
����� ��	��� 
��
���������� ��������� ��
 !���./$��������� ��
�� �����
��

'
�������
��
� ������ ��
� ��
� 
�� "����9 ��� ���� 
�� -�����
������ ����� ��������� )�	*��

����/����� �������� ��� �� 
�� ./������ %�� �������� 1���������	��
������	��
���� '�$���

���������� �����$��: "�� ������������ ��
 �����
��� ���
� �
����� 
��� �����
���
� 
��

"��� �� ����� �����
���� ��� 
���� (���� 	������ 	�� 
�� 2��
����	��� 
�� )�	*��3�������� ���

�	��&�����
 �*����
� �����������
�� �	�$����� ��
�� ���� ������� �� ����� ������
� ���
����

��� '��
�� ;�	�<=> &��
 %�������� 
��� ����� 
���� 1���������	��
������	��
���� )�����

%�����&�����
� ���
 ��� 
�� )�	*��3������ �� �	�$������ 1�����
 �����
�� 3������������

&�� ��&� "���	�$����� ;��
<=> �
�� �
�������$��� ;�&�<?> �	������� ���� )�	*������/�����

���&������ ��� 
���� �� ����$����� ��
�� %�����
�� ;'��<?>� )�� ���������� 
�� ��������$��

�
��� @���
��� 
�� �
�&�
��� )�	*��3�������� �� ���
��� '*������ &��
 ��
� �� 4������

��� ������������� "���
�������	��� 
����������

<<A





����� �����	�
�������
����

����� �����	�
�������
����

������� �	 
	 �	 ���� 
	 
	 �������� �	 �	 ������� �	 �	 �	 
����� ��� �	 �������	 ���

��� �����	��
 �
���
���
��� �� 
�	�
����� �	
�
�
���� ��� �����
���� 
� ��� �
�	
� ����

��� ���
���� �
�� �����	��
 �����
�� �
�	���
���	 ������� � ����!���� ��"���� #$%��&	

'(()*++�,	���	��-+�%	�%�.+�	/����"	$%��	%0	%�1	

����.�� �	 ����-�/	 ��� �

��
���� �� �	����
  �����
�� #���������� �, ���� �2.�&	

����3$� 4	 �	 �������� ��� �	 �	 ������(�/	 !�	��
�� � " 
� #�
�
� ��� $���
��$�
� %
�����&
������	

������� � �'�/�!�� 5'6��!� ��� �$$7 #�23$&	

�����%� 8	 �������9�!:� 8	 8�/������ ;	 <������9���� �	 =������ �	 >�9����� ?	 5������ �	 5���!'

��� <	 ?�9�!��	 !
�����

� "���'��
�� ��� &
������
���
�� (
���
�� �� ��	�
���� �� $��
��� ���

)��*���� �
���	
�	 ������� � 5'6��!�� �'�/��(�6 � ���� .132 #$%�%&	

������� 8	 �������9�!:� ;	 <������9��� ��� �	 5���!'	 ���
�������
� %���
�� ��  ����	��
 !����

�
�� 
� %	��
������ ��	�
����	 ������� � 5'6��!�� �'�/��(�6 � ���� �112 #$%��&	

�����7� 8	 �������9�!:� 8	 8�/������ �	 =������ 5	 <�����!:6�� 4	 ���(��9���� �	 5�)����� ?	 ���-��

�	 8���9���� �	 8���� �	 8	 ������� ��� �	 5���!'	 &���	�
���
��� %����

�����
 �� ���
�

��

�����
 �����
���
�� ������� �� 	���
��
�� ��� ������
�� �� !���� �
����� 
� �	��
������


�	�
����	 ������� � �'�/�!�� 5'6��!� ���� ����%7 #$%�7&	

����%� �	 ������� ��� 
	 
	 �������	 !���� �
����� 
� ��	�
���� +�����#�
�
�� �
�	
�� ���
���� �
��

 ����	��
 !����
�� %
�	���
��	 ������� � 5'6��!�� �'�/��(�6 � ���� ��723 #$%�%&	

���)3%� 
	 �	 ��)��(� <	 @	 8����� ��� >	 �	 ?:6/�����	 ����
� ��� �
���
�� �� ���
�
�� %����
������

#5����/ 5����� 
�9 A���� B?�� �23%&� $ ��C�-�	

����%%� ?	 ?	 �����9� ��� ?	 4	 ��,��	 ,
�
��
���� %��
� )-���� �� �
�

��� �.  ������ ��� )'��

������

"��	���	 ������� � 5'6��!�� �'�/��(�6 � ���� ��017 #$%%%&	

����1�� �	 
	 ������ ��� �	 @	 5�!����	 ,�

��
��� 
� $����	�� &���
��� %�
�� �� �	����
 ���	��
��

%
����� �� /��
�'�� +
�	�� ��  ����� ��� )���� $������	 ������� � �'�/�!�� 5'6��!� ��� �.%0

#�21�&	

����.2� �	 �������� 4	 �D���-�� ��� �	 ?����� 6	 $���
���
�
�� ��� /��
���� 0���
�� � ������
�

%	���
�	�
��	 ������� � ����!���� ?)�!(���!�)6 ��� 2. #�2.2&	

����3�� �	 ������� ��� �	 ?����� 6	 $ ��1 �����
��	
� %�	�� �� %����$����
���� $������� 
� ��� ���
�

���
�
��	 ������� � ����!���� ?(��!(��� �� ��1 #�23�&	

����%$�� ?	 �	 �����9� 4	 �	 ����������� A	 @	 4����(6� 
	 A�/�-�!'� ��� �	 5�������	 $� �" %�	�� ��

/��
���� 0���
�� 
� �
�	
� ��� %	��
�

�
��� $�������	 ������� � 5'6��!�� �'�/��(�6 � ����

�%�1$ #$%%$&	

����%$�� �	 ���('��� E	 ��!'��� ��� �	 <��/	 ��� �����
�� �� �
�	
� ��
���
��� ����������
���
���

�����
��������
���
�� ��� �� �����������
��. $ �
�����

� 
���'��
�� ��	�� 	 ������� � ��F

��!���� ��"���� ��	��� 1� #$%%$&	

����.�� ?	 �	 ����� <	 G	 
�('��� E	 �	 ���-'�� ��� E	 >	 ����	 !
�����

� �
���
�
�� �� $���� $�
���.

��. �
�	
� !
�����

� &������� ��� ����	 ������� � 5'6��!�� �'�/��(�6 ��� 1%2 #�2.�&	

���



����� �����	�
�������
����

�������� �	 ���
�� 
	 ��������
�� �	 �������� �	 ����
��
��
�� �	 ����
�� �	 ����� ��� �	 � ��
�	

����� ������	
�� ��
 ��� � ������� 
� ����� ����
�� ������
���� �������� 	 !������ �" ��
��#��

��$%�#% ���� &'()&) *+&��,	

������-� �	 ���
�� �	 ��..���/� �	 �#��������� 0	 1�
$� �	 ����
�� 2	 �
#�%#�
�� 3	 �	 4�%
�� �	 �������

��� �	 � ��
�	 ����
���
 
����
�� 
� ���	 ����	���������	���� ��
 
� �
�	���� �
	� ���	����

���������	 !������ �" ��
��#�� ��$%�#% ���� ��()&� *+&��,	

�����)�� �	 ���
�� 
	 0�#�� �	 05�6�
�� �	 �#��������� �	 ������� ��� �	 � ��
�	  
��
 ������	���

�
!�

� �	�

�
 �� 

����	�
�" ����� ������
���" ������� �����	
� ���������" ��
 �����
������


����	�������	 !������ �" 3��7��$%.�����
 �����% ���� �8( *+&�),	

�����)-� �	 ���
�� !	 �.
��� 1	 � ��� �	 �������� 0	 ��9
��.�� 2	 ��
�.��� ��� �	 � ��
�	 #
���	
����

�	�
� �� ��������
�
	�" �������������� �	���	���" ��
 ��
����� ���

�� 
� 	�� ��	���� 
������

*+&�),	 :�-��.����� �/
#.��%#�/$ *
���
�
�#�.,	

�����)#� �	 ���
�� 0	 �.��
�� �	 �������� �	 ;���
����� ��� �	 � ��
�	  �������� 
����
�� 
� ���

��������
 ��
 ������ 
��������$ ���	���� �����	
� ��������� ��
 �
���������	
�� �������� �	�
�

*+&�),	 !������ �" ��$%�#�� ��
��%.�$ � *
���
�
�#�.,	

��
#88� �	 �	 �
#�����	 %���	��� ����
	
�� ��
 &������ %�
� '�����	
�� 
� %��

�	 ��$%�#% �
/��.%

���� 8) *�'88,	

��
���� �	 !	 �
����
 ��� !	 
	 �	 �
-
�	 (�����
)�	
�� ��  �������� *
!�

� �� +��������	
���

����� �� (����	
� *�,
	�	
��	 ��$%�#�� �
9�
< = �� &��&&( *+&��,	

��
�&+� !	 �
��%.
��	 +��������
�� 
� ��������� ����	��� *4>"��� ?��9
�%�.$ ��
%%� ����
����� 4>"����

+&&+,	

�� �'8� �	 � ��
� ��� �	 ���6
	 '���
��	�	
��� 
� %���������
 -������� %	�

�
 �� .����
����
����

.
�������
� ���	���� &������  ����	
� '�������� %���	������� 	 !������ �" ��
��#�� ��$%�#%

���� +(� *�''8,	

�� �&�� �	 � ��
�� �	 @�
6
����� �	 ���6
 ��� A	 � %%�
�	 �����
�� �� ����������
 �
!�

� ��
 ������

���

�	 �����
%% �� 3�#�
�� 0���
.�# �
%����#
 �/
#.��%#�/$ ��� �'� *+&&�,	

�� ��(� �	 � ��
�� �	 ������� ��� �	 ��#�
�.	 %	���	��� ��
 
����
�� �� ������
���� �������� �

 
���	���� 	����
� 	��
� �
�������
� ��
���	��

��" ��� ����� ��	�� ����� 	 ��$%�#% �
/��.%

���� �+) *+&�(,	

���
�(� �	 �	 ��
�<��.�� 2	 �5����� �	 �������� �	 �.
��
����� 0	 2���� ��� �	 � ��
�	 %���������

����� ����� �
���	��� �� ������	
�
�
	� ����
/��	
�� 
� ��
���������
�
 �
!�

� 	 ��$%�#�� �
9�
<

A ��� &)+8&B *+&�(,	

����(C� 1	 ���#�	 &������ 
�
��	
��	 ��$%�#�� �
9�
< ��� (C& *�'(C,	

����(8� 3	 ���
�-
��
�� A	 0	 ���#
�� ��� �	 :	 �����	 '�����	
�� �0��	� 
� ������� �����	
� �����

����� ������	
��	 ��$%�#�� �
9�
< ��� CB' *�'(8,	

����'+� �	 �	 �������� !	 0	 4�����
� ��� �	 �	 ���D.�%	 .�� 1�
�
� �� ���
 +��
	
��� ��
 2

	��


� &��� 3������
 %���	��	 
	 �������� 2	 E%���%��� 2	 3�
% ��� �	 2���-
�� *A��.��
�,� &���

3������
 %���	�������" ��

�
�� 	�� -�� ��	���� ��	� (�����
� ��
 &3' (���
��	
��� � *�' F +8,

*A���% ���<���� 3
< G���� �''+,	

����B+� �	 �����H���� !	 !	 �H��� ��� �	 ������"$	 #
���	
���� �,��	��� �	�
� �� �����
�	
�� 
� �
!�



��	�����	 !������ �" ��$%�#�� ��
��%.�$ �	� 8C( *�'B+,	

����B�� �	 �����H��� ��� �	 ������"$	 (����
�	
�� ��
 	�� ���
�����	 �� 	�� 14 �,��	���� 
� ��
�����

���
�
 ��������	 !������ �" ��
��#�� ��$%�#% ��� +)+B *�'B�,	

���



����� �����	�
�������
����

������� �	 
	 ����� 
	 �	 �������� �	 �	 �	 �������� �	 �	 �������� �	 ���������� �	 ��������

�	  !��"�� ��� �	 #	 �����!�	 ��������� ��	
��� 
� 
�������� ��������� 
� �	��
�� ��

��������� �
����	�
� ����	�������	 
������ �$ ��%�!��� ���&!���% � ���� ''��( )*���+	

�����,� �	 ����	 �������� ������ ����	��� �� ������� ��������� 
� 
���	 ������	�� � ���
� �	�	
�	
� ���

������	 -�!�����!$� $.� ��%�!/  0 ���&�� ��������� ��� �������� ��� *12 )',�,+	

�����3� 4	 �	 �������!�� 5	 �	 ��&���6�6�7� 8	 ���!�� ��� 9	 �.��!:	 ����������� ��� ��	����	
�

);!��������$��!���� <����: 9���!  ������� ����/$��� �& ��!�� *��3+� 2 ��=�:�	

����(2� �	 ���!$���	  
���	
���� �	�	�� )
��� ;!��% > ����� ��7 ?��/� ',(2+	

����''�� @	 ���!:���!� �	 ��������! ��� �	 8�AA!	 ��	�
��� !�����	��
"�	
�� �� 	�� �����
�� �� ���������


� 	�� ���
� �	�	� �� � ���	
������
#�� $�% 
�������	 @���A��� 
������ �$ ���&!��� ��%�!��

��� ��%�!��� ���&!���% ��� ,(1 )*�''+	

����''B� @	 ���!:���!� �	 �	 �	 ���!�!� �	 �������! ��� �	 8�AA!	 13! !���
��� ��
���
�� �������� 


!���
��� ���
���	�	� $�% ��� �&� �	��� �� 	�� %��� �� ������
���
	��� ��	
��� 	 
������

�$ ��%�!��� ���&!���% � ���� *3�*C )*�''+	

����,3� �	 ������A���%�% ��� �	 8	 ��D��	  
���	
���� �	��� '(��	 ����	�������	 
������ �$ ���

�&��!��� ���&!��� ���!��% ���� '11, )',,3+	

����,(� 4	 ����: ��� 9	 �!������	 ��	�������
	� �	 	�� ����� 	����
	
��� �������	
���� ��� ��	�	
����

������
(��
��	 
������ �$ ��%�!��� ���&!���% � ���� �(,1 )',,(+	

������� E	 ����� #	 8��F ��� 9	  	 E.��&���	 �)������������ �� ������
(��
�� 
� 	�� *�+�� $�

��	�������	
	�	�� 
�
���	 -�!�����!$� $.� ��%�!/��!���� ���&!� ���� *C, )*���+	

����'C� ?	 ����� ?	 GH�/! ��� �	 �	 �H�����/!	 ��������� �	���	��� ��� �������� ����
�� 
� ����

�
#�
� �	������ ������ ��� �	������ �������+�	�� �
,	���� �	��
�� ��
�� $�% ����	������� 	 ��%�!���

���&!���% 0 ���&!��� ��%�!�� ��� '�2,1 )*�'C+	

��H�,1� �	 �H�����/!� �	 �H�����/�� ?	 E!�� ?	 GH�/!� �	 ��H�/! ��� �	 47��!��!	 &��$�% �	��� ��

�
����
�	
�� �� ������-��� 
� 	�� �
#�
� ����� � �	 �A�������!&!�� ���� � ��� '��3 )',,1+	

��H�,��� �	 �	 �H�����/!� 9	 ������ ?	 GH�/!� �	 ��H�/! ��� �	 47�����!	 %�����	
�� '���������	

��� ���� 
��
������	� ��� 	�� &
��	 .���	��� �� .� �	��	��
�� ����� �� ��	����� �� �+��

�
����
���� $������������ !������	
�� ����	�������/ 0/ ������� �����
�� �� �������� ����

�
�� 
� �� ��� 	��	���	�� 
������ 
� 	�� 1��� *
#�
� �	�	��	 
������ �$ ��%�!��� ���&!���% �

���� ,''( )',,�+	

��H�,�B� �	 �	 �H�����/!� 9	 ������ ?	 GH�/!� �	 ��H�/! ��� �	 47�����!	 %�����	
�� '���������	

��� ���� 
��
������	� ��� 	�� &
��	 .���	��� �� .� �	��	��
�� ����� �� ��	����� �� �+��

�
����
���� $������������ !������	
�� ����	�������/ 1��	 -� ������	���� 	 
������ �$ �AA�!��

�A��������A% ��� ,,1 )',,�+	

��H���� �	 �	 �H�����/!	 '(��	 �� �������	��� ��� !�����	��	
�� �� �����
����
�	
�� �� .�	���-���

�	��
�� �� �+���
����
���� &���
�� ��������� $������������ !������	
�� ����	������� 	 
������

�$ ��%�!��� ���&!���% � ���� 2C32 )*���+	

��H��C� �	 �	 �H�����/! ��� 5	 G�H����7�/!	 '(��	 �� �������	��� ��� !�����	��	
�� �� �����


����
�	
�� �� .�	���2��� �	��
�� ��  
���	
���� ����	������� ��� �
����	�
� ����������	� 	


������ �$ ��%�!��� ���&!���% � ���� ''', )*��C+	

��H��3� �	 �	 �H�����/! ��� 5	 -	 9��$�	 '(��	 �� �������	��� ��� !�����	��	
�� �� 	�� �	���	���

�� $���	������	��
���3�	�� !�����,��� $������������ ����	������
� �	��� 	 
������ �$ ��%�!���

���&!���% � ���� '�'3 )*��3+	

���



����� �����	�
�������
����

������� �	 
	 �����
���� �	 ������� ��� �	 �����	 ���������� ���	
���	 �� 
�������� ������
�� �
���

������
� ��� ��� �����	 ��
���� !�"#��# $
��
�# ���� %&' (%���)	

����**� �	 
	 �����
���	 ������	
������� ����
������ �������� �� ������
������
� ����
	�� �����

 ��
���
�	 
++ �
� ,+
����#��+" -
.�
�# ��� �/ (%�**)	

����00� �	 �������#
� ��� -	 �	 �� 
	 ��
�
����� !��"
���
� �� #�$��� ����� ����%���	 1����� ��

��
���� !�"#��# ��� */�% (*&00)	

�����2�� �	 �������#
�	 ��
�
����� �
��&����� �� ���	
��� '���� ����%���	 1����� �� ��
���� !�"#��#

��� *&*2 (*&�2)	

�����23� �	 �������#
�	 ��
�
����� ����� �� ���
�	��
����� ����������� �� ���	
��� '���� ����%��� 	

1����� �� ��
���� !�"#��# ��� *&** (*&�2)	

�����2�� �	 �������#
� ��� 4	 !	 1�����	 ���
�	��
����� ����������� ��� ��
�
����� �
��&����� �� ��	


��$��� �	��
�	 �������� 1����� �� ��
��#��" ��� 5*'5 (*&�2)	

����'�� 6	 7	 ��� ��8 ��� �	 �	 �
���#��	 �%
 (��
� )�"��  ��
���
	 !�"#��� -
.�
� ��� *%2 (*&'�)	

���.0�� �	 �	 ��.��#�� ��� -	 �	 �� 
	 ��
�
����� �
��&����� �� ����
���
	 1����� �� ��
���� !�"#��#

��� *'*/ (*&0�)	

���.0*� �	 �	 ��.��#�� ��� -	 �	 �� 
	 ��
�
����� �
��&����� �� ����
���� "��"��
�
 ������� ��� ��

"��"����	 1����� �� ��
���� !�"#��# �	� *'2' (*&0*)	

���.22� �	 �	 �	 ��.�
# ��� ,	 4	 -�� ���	 ��
���*������ �� �� '�� �� ��	
������� 
��� �� �%
 �
��

������
� �"
����	 �� 
�%����	 ,+
����������� 
��� ��
� **'5 (*&22)	

��
3*5� !	 �
3��
	 +�� �%
���
 �
� ���	��
� ���"
����� �	 ,

�
�
 �
� �����
����
� 
�
-�����%
� ����%�

����	 9
����� ��8
� �
� �
��#��
� +�"#��� �#��
� 4
#
  #����� ��� /// (*&*5)	

��
�'�� �	 �	 �
���#��	 �%
 �������
� �"
���� �� !������	��  ��
���
�. !��� ��	 -
.�
�# �� ���
��

!�"#��# ��� */0 (*&'�)	

��
�*�� !	 �
��  
�� :	 ����8���� ;	 
<������ ;	 ���=�
� >	 7	 ����
�� ��� �	 �
#���+#	 �
 ������

��������
 �
�
�	������� �� !%��
 �� �� ���
	�� �
�"���
� 
� /���� !���
� ��0������� 	 
���

��"#��  �8��+���� ,
����� 6 ��� /� (%�*�)	

��
#&&� 4	 -	 �
#����� ��� 7	 ,�
��
�	 �%
 �
�- %�����
� 
��� �� ���������� �%
	����� ��� 
������

(?@���� A��.
�#��" !�
##� ?@����� *&&&)	

���
&0� 4	 ��
�
���� ��� �	 ,�  
#��	 ��"���� ���
�������� �� �
��
��� �"�� ����
	�. ��. �����1
��


�
��&�����	 1����� �� ��
���� !�"#��# ���� �520 (*&&0)	

����&/� 1	 ���8� B	 ?���� ��� �	 >���#����	 ������
�� ��	��� ��� 2
���������
� �"
�������"�� 31��

�
��
 ��� �%
 ��
&���
��
 �� )������ ������
������ ���	� �� !���4������� ����5 	 ������� 
C

�� 
# ��� **** (*&&/)	

�����2� :	 ����8���� ;	 ���=�
� �	 �
#���+# ��� >	 7	 ����
��	 31��
��
 ��� � 2
� ����������


!%��
 �� ���
	�� �
�"���
�	 !������
����� -
#
���� ��� %205 (%��2)	

����*5� :	 ����8���� >	 7	 ����
��� ;	 ���=�
 ��� �	 �
#���+#	 ����������� ��������	����� ��

���
	�� �
�"���
�	 !������
����� -
#
���� ��� 2* (%�*5)	

����&*� 1	 $	 ������	 �%
 �
�
�	������� �� 1�
�������� ��%��	������� �� 	��
���
� ���	 �"
�������"��

�
�
�1������	 ,+
����������� 
��� 
 ��� * (*&&*)	

�����0� 4	 ������
� ��� �	 ,������"	 ��%��	������� ��� ������
� �������. !��� ��. 3&�	"�
� ��

 ��
���
�� ������ '�� · · ·6 �����	 1����� �� �� 
�� �� ,+
����#��+" ��� %% (*&�0)	

���



����� �����	�
�������
����

������� �	 
	 ������
	 ��������� 	���
�� ��
 ��� ��������������� ��������	 ������� �� ��������

��������� ��� ��� ����� 	

��� �!� 
	 �� "���
# ��� $	 %&����	 �������� ��� ��
����� ���
� �� ������� ��������� �� ��������� ����

�����
�������� � 
��������� ���
�	 ������� �� �������� '�#
��
 ���� �()(�� ����! 	

�*����� +	 ,	 -	 *����� ,	 $	 ,	 '�����
� '	 ,	 �	 .��/��
� $	 ,	 0�� 1������ �	 ,	 '��2� ��� 
	 *	 ,	

�� "����	 ��
������
���  ��!��������� �� "�
������#��
�$�
���
 ��!��
�������� %���
���&��

����� � ������� '��������� (����� ���
�	 ������� �� '�#
���� �����
��# % ���� �3��� ����� 	

�*����� ,	 *����
 ��� �	 1������#	 �����
�������) ������� �*����) ��
 ��
����� ���
���� +" ����������

����������	 �������� ������� �� �����
��# ��� ���� ����� 	

�*����� *	 *���2
	 ,����) �  �
!��������� (�������) 	��- .� (�� %������ ��
 %�������  ��
����� ��

,����	 %�	 �4 %�	 � �'����� '��

� 5�� 6��2� ���� 	

�*����� $	 *������ ��� .	 7	 -	 .���	 '������ ��������
 ���
� �� +�/ �!���������� ����0����� ��

!���������� ����������	 ������� �� �������� '�#
��
 ��� 33�� ����� 	

�*����� .	 *��/����	 ���� ��
 &���
�
��������� +�/��!��������!�� �-���#89�.� -�������� ���� 	

�*�:��� *	 *�:���� %	 "���� .	 1����
�� ��� "	 *���
����	 (������������ ��
 ���������� 
�*����� �� ��!���

�����
 ��������!����� ����� �� ��� ����� ����������	 ;���
������ �<� '�#
�2 %= ������
�� >�����

��� ��( ����� 	

�"��� �	 "������	 '��0��� ?������2�����	

�"������ �	 "������ ��� $	 %&����	  ��!���� �� ��� ���������� ���
�������� �� ��� ���������� ����0�����)

������� �� !������� ����� �� ��� ��
� ����� �� ��� ����� !������) ��
 ��
��� �� ���������



�������� �� ��� ��!�������
 
�����
��0� ������� 1��������0���� 	 ������� �� 5��8��#
�������

1����
 ���� ()� ����� 	

�"����/� �	 "������� $	 >����� 1	 1���������� �	 @������� -	 .������ �	 ,	 $&

��� ��� $	 %&����	

+�������
����������������� 
������
���� ������ ������ �� ��� ����� !������ �� 
�����
��0�

��������	 '�#
���� $�0��� @�����
 �	�� �(!3�3 ����� 	

�"����� �	 "������� 1	 ?�
����� *	 >�#�� '	 @��2��������� 1	 1���������� .	 �	 -�/��� -	 .������

,	 @���� ��� $	 %&����	 "�
���������
 ���������� ��
 ���� ��
�� �� � 
�����
��0� ������� 	

'�#
���� $�0��� @�����
 �	�� ��!3�) ����� 	

�"����� �	 "������� 
	 .��2
���� 5	 %	 A�
��� $	 %&���� ��� �	 �	 7#��	 ����� ��
 
��������� ���!�����

�� !��!����� ���������) ���!��!����� ������) ��
 � 
�0���� �� ��� �����
��� �
�
�� 	 ������� ��

�������� '�#
��
 ���� ��)(�! ����� 	

�"���)� �	 "������� $	 *�B���� 
	 .��2
���� %	 ��2�/
��� �	 �	 7#��� >	 -������ ��� $	 %&����	

��������
���� $������������� �� ������
��0� ��������� ���
���� ��� � ������ �����%���
��

/���������� /��!����	 '�#
���� $�0��� @�����
 ���� ��!3�� ����) 	

�"���3� 6	 "��� -	 
�� ;	 ����� 6	 
���� $	 @�� ��� @	 -��B	 ���������� ����0����� �� ����������

���������
��� 
�����
��0� ��������	 ������� �� �������� '�#
��
 ��
� ��)(�) ����3 	

�"���3� %	 "��� ��� "	 .��C�	 $�2����� �� 
��� �����
��� �� ��� ���!� �� 2" +�/ (1 ������	 ��������

'�#
��
 @�����
 ���� (� ����3 	

�"���!� %	 "���� *	 *�:��� ��� .	 1����
��	 2" +�/ (�
� ��
��� �������� �� ��������� /�������������

�� ��!�������
 3����
�	 ������� �� >�B����� $�
������ ��	� �! ����! 	

�"��!�� 7	 "�����C�� ��� .	 .	 @��/���	 4������ ��
 ����������
 $����!� �*���� �� %�������0������

��
 ����!��������� �� %��� �������� ���
��
 �� ����
�� +�/��!��������!� 	 %������� ���

%��
��8"�
���
�����8'�#
���� �����
��# �������� '�#
��
 ��� (�� ���!� 	

���



����� �����	�
�������
����

������� �	 ���
�
�� 
	 �	 �
 ��� �	 ����
�
��	 ��������� �	
���
� �� �	�����
 ��
�� ����
��	 ��������

�	 ������������ �
������ ���
����
��		 ������� �� ��
����� ��� �� ��� !"#! $#���%	

�����#� �	 ���
�
�	 �
�����
�
��	 �
� ������
� ���
��� �� �� �����
��
� ��������
� 	 ������� ��

��� ���� ��
�� &�� ��� !"'( $#��#%	

������� )	 ����	 ������
� ���������
 �
 ��
������
���� ��� ���	��� ����
�� ����� 	 *�
 +�,�����
,�-

���
 ��
��
 ���� .�/# $#���%	

���0��� 1	 2	 ��0&� ��� 1	 �	 2���,�
�	 �	�����
���
� ������������	 �
 ���� �
��!
��� �
� ��
��	

"�#�����	 ����
 ������� ��� .(3 $#���%	

���
3/� 4	 ��
�
��
�	 ���� ���������
 $"% �
 ������& ����
���� �������
� $����
��� ��
  � 5
6 ���,�

#�3/%	

���7�3� �	 ��7
����� �	 +��
��� �	 ��������
 ��� �	 2���	 ��
��������
�� ������� �� '�����
�� ���
�

����������������
��
� %���
 ���������
�� �
� ""( 
��
������
� 	 ������� �� +��
����� 8&���-

&��
 �������� !'3 $#��3%	

����'(� 9	 �	 ����	 ���
 �
����	 ��� ���� 1
:�
6 ��� '�( $#�'(%	

���,(/� �	 ��,
� ��� �	 �	 )���	 "��� )���	�� �
� *��
��

����� $80���7
�� 2
���� �
��
��
�7 5
6

���,� .((/%� '	 ��;�7
	

����/3� �	 �����
� ��� *	 9	 � 0�
 	 +��
���
�,�����-
��
�� ���
���� ������ �� ��� �� ��������
��

���������
 .�
� �
 ��
�����	 ������� �� ��
����� ��� �� ��� "3! $#�/3%	

�����(� *	 9	 ���
 ��� �	 +	 8��
� 
�	 %���
 ���
����
���
 ����	 �� ������ ��/ �
 ��0��� �'� �
 ���

����������� ��
�� (�12�� �� �34��	 ������� �� ��
����� ��� �� �	� /�'" $#��(%	

����(�� <	 =	 ����� ��� +	 �	 �>���
�,�	 +5�
� �� ����������� �
� 6���� 
�
��
� �
 ��� ����
���� ��

�7'������
���� �
� �7(������
����& $�����
������ ���
����
���
 ����	 	 ?����&����� 80
�&�� ��0�

��� �( $.((�%	

��@�##� �	 �@���A� �	 ����
&� �	 *
����
>� 9	 *���7��� ��� 5	 
	 ����
��	 %���
 ���
����
��	

�� %�
���
 -�������
& +����

� �� "���
���� /������� �
 8���� -- 	 B�&
���&����� ������� ��

�������
�&�� �
�� "' $.(##%	

��@�#!� �	 �@���A� �	 ����
&� �	 ������� �	 *
����
> ��� C	 *��D�
	 ��������
�� �
� ����
����� �������

���� �� ��������� 
�����
��& � 
�������
���	 %���
 ���
����
��	 �
� 9���	 ��5��
���
 ����	 	

������� �� ��
����� ��� �� �	�� .#"'(/ $.(#!%	

��
�"3� �	 �
�>�
�7	 "���
���� ���
��� �
� "���
���� ����
����& --1 -
������ �
� %���
 ���
��� ��

8��	�����
 "���
���� $*	 ?�� 5� &���� ���0��� B��	� 5
6 ���,� 48�� #�"3%	

��
�#(� B	 ?	 �
�&
� ��� �	-�	 8����>	 �����7 "��� )�� �
� �����
�� 8�	�� '& "��� )�� �
� 8����
�


� ��� ���� ���� �
� �������	�� $80���7
�� 2
����-�
��
��
�7� .(#(%	

����(#� �	 ������& �� �	 <�&� ��� �	 ����7����	 /��������
� �� �
������ ���
������������
 ���
�����


��	 ��� ��0����	 ��
����� ��� �� �
&&
� 	��� "(! $.((#%	

����(.� �	 ������& � ��� �	 ����7����	 ����
�����
 ����
����� �� $�����	��
������� �
 �������


������� �	 �
������ ���
������������
 ���
����
��		 ��
����� ��� �� �
&&
� 	��� "'3 $.((.%	

����("� �	 +	 ����� 	 "����
 ���
����
��	 $���� )��
� E 8�� �&�� �����
 &
�� )
 & 8�  
A� 9�7�����

.(("%� "	 ��;�7
	

����(/� 5	 
	 ���& ��� <	 )���
	 :�� �5�
� �� ����������� �
� ��������
 �
 ��� ��������� �	
���
�

�� $�����	��
�������	 ��
����� ��� �� �
&&
� �	�� #'' $.((/%	

���



����� �����	�
�������
����

������� �� ���	
 �� �� 
���
 �� ��	��� ��� �� ���	���� ��������	 
�������
��
 ��� �����

��
 �������

��
��� ����� �� ���
��� ���
�������������� ������� �� �	������ �	 !��! ���
 "�#$�% &'���(�

�)*�+%� �� )*�	�!	�
 ,� ���	� �
 -� �� �!	�
 �� ���!�.�*�
 �� ��.���
 -� /�0����� ��� -� 1.����

�����
��
��� �� ������
 
������

���
����
 �
�� �� �
� ����  �!��� "
�
� �� �#������ #� $����

�������� "��

���
���
 %���������
�� ������� �� �	 !���� �	���!�� ��
 %"'+ &"++%(�

�)*�+$� �� )*�	�!	�
 ,� ���	� �
 -� �� �!	�
 �� ���!�.�*�
 -� ���
 �� 2� �.�������
 -� 1.���
 3� ��4

����	� ��� �� ��.���� "��������
��
��� �� 
������

���
������� �� 
�� ����  �!��� "
�
� ���

�� ��
��� "���
���� �� �#������ #� &��
���
�' "������(�����' $�
���� %�	��
�
 )������
�'

*��

��� "��� )������
�' ��� $������������ "��

���
���
 %���������
� � ������� �� �	 !����

�	���!�� ��
 #"$$ &"++$(�

������� 5� ���6�!�� ��� ,� 1	��� +�����
�
�� ������
��� �� ���

���#����
��� ���

���
���, "����
��
�����

������
��� �� 
�� #���
 �!��
���� -�
� 
�� ����

��� 
����� ��
��� ��� 
�� *���� ��	�� ��
��� �

������� �� �	����	���!�� ��� �	���7����� �8 �	����	���!�� ��6��*! �
 %� &'���(�

����+�� 9� 2� ��:�� � �� ��
����

��� 
� .����	�� /�����	 &1;���� <��6��!�� ���!!
 ,�* -���
 <�2


"++�(�

���	=>� 9� �� ��	��� ��� 
� ?���	��!��� �����

��
 "
��� �� 
�� �������� ��������
� �� ��
������
����

����
��
��� �� �������
 �

�� ��
������ ������� �� �	������ �	 !��! ��
 $""# &"+=>(�

���	�$� <� ��	� ��� @� �� �� ,���� $��� �) ����
��� ���

��� �����
�	�
���� �� 
�
��������� ����	

��
�� ���� ����� � ������
� ��� �����
��� �� ���������
�
� -�
� 
��
��
��
��� ��� 
� �����	��

#�����	� �A������	����� 2��� ���� 2 ��
 '$$$ &'��$(�

���	��� 9� �� ��	���
 �� @�� ��� �� �� �	������ �����

��
 ������
��� ��� 
���
������
��� �� ��
�����
���

���
 ��� 	����� �
�
�� �� �������' �#�������' ���	��
�����' ��� !�������� � ������� �� �	�������4

����� �������! ��
 ""$+ &'���(�

�@���'� 2� @��A���� �������
��� �(�

� �� �����	�� #�����	� 2�6����! �� �	������ �	 !��! ���
 #=+

&'��'(�

�@� $#� 
� @� �� $������������ ���

���
���' � )����-, �0 "��

��� ����
�1
�
��� ��� �����
�
�� ������


�
����� �A������	����� 2��� �
 '$� &"+$#(�

�@B	"�� �� @B	���
 �� ������	�����
 -� 9���	���6
 �� 
�	� ��� 2� ������ 2����� ������
� �� �����'

��� ��� 
������������ 	��
��, 3��� 
�� α� 
� 
�� ���
 β�������
���� ������� �� ,��4�� !�������

�����! �	�
 $'+ &'�"�(�

�@��+�� �� @�����	� +���	�����' ��(�����
��' )�������
�� &�A������ C�����
 D�����
 "++�(�

�@��"%� �� @�� ��� �� �	�� �������� ���#�� ��� "
�����	 
�� "
��

��� ��� ������
� �� /������
���� �

�	������ ��6��*! ���
 $>"� &'�"%(�

�@��='� �� �� @������ ��� �� 
� 2����!��� "��

��� ��(����� ��
�� �� "��� )������
� *��������
��

�	 !���� ��6��* ��	
 +"' &"+='(�

�@��>�� �� @���7���
 ?� @���� ��� 
� 2� �� ����� 4���
�
�
��� �������� "��

���
���
 �����
�	�
��� ��

.����	���/��� �������
���
�� ������� �� �	 !���� �	���!�� ��
 %'�� &"+>�(�

�@��"#� /� @����A�!�
 @� ��A������
 -�4/� ���
 -�4�� ��� ��� �� 2� ��	�� ��
���� ������ � ��- ��
�

���	���� �. ���������
�
�5 �	 !���� �	���!�� �	������ �	 !��! ��
 "$+#> &'�"#(�

�@��=�� �� @����� �������� "��

�� �� .�	� ��������� /���!�	����� �� ��� ���	A�� ��� /��!�	��� �
 $"

&"+=�(�

���



����� �����	�
�������
����

������� �	 
	 ����� 
	 �	 ���� 
	 �	 �� ��� �	 �	 �����	 ���������	 
��	���	� �	 
�
�������� ������

�	� ���

� �������	�
��	 
������ �� ����������� 
����	 ����������	 �	� ��������	 ����� 
�������	�



�����
��
��
	 �������� ������� ������� ���� �� !"#��$	

����"#� %	 &	 ������� ��� %	 �	 '���(���	 �������� �	� ��	������	 ���� ��� ���	�
��	� �� ��� ����


������ ��  ���	��	 
������ �) ��� *������� �������� +������ ��� �,�- !�-"#$	

������� �	 �������� %	 ������� �	 .������ ��� '	 /0����	 !�����	� ��� �������	 ��	�
 �	 "�
���



������	
 �� 	#����	�� ���� 	#���������	�$ ��% & ���
���
�	 �� �������	�� �	� ���	
�����	��

�����	
	 
������ �) �������� ������� ���� #1,2�" !"#��$	

�����#� 
	 �������� &	 ��3��� ��� �	 �4�4�4����	 ��������� �� ������ ��	��� &������
	 
������ �)

�������� ��������� / ���� 1,"1 !"#�#$	

���� 1� �	 ����������5	 '�������� ���(�	� '���
$ )��������� &���
	 *��� ������������6���� +������ /

���   2 !�- 1$	

����- � +	 ����3�������6��� ��� 7	 7��������	 & ������� �	���
�
 
���� �� ���
����		 
������ �)


������ *������� ��� ����������� ��� 8 - !�-- $	

����-,� �	 ���� &	 *	 �5�����3� ��� �	 95�3�	 *������ ���	
���� +���#�	������ �
����� �� +#

���������������$ !�

�������	 �	� ��������	���� ���
�����
 �	 ���� ������ *��� �	� �	 ))� 4

�������	
	 *66���� +6��������6� ��� �#-2 !�--,$	

����-1� �	 ���� �	 95�3� ��� :	 ;���	 ���#!���	
��	�� *������#���	
���� +���#�	������ )���������	

�
�����
��
� ����� �� !�

�������	 �� ,������	#��	��� +#'�������������� �	 ��� ���� ������

�����	 
������ �) �������� ��������� �		�  �"1 !�--1$	

����18� %	 *	 �	 ���3 ��� %	 7�����	 -�� ��
�����	� ��� .�

��
��/��0�(�	��	��	� �� 1���
����	#

��	�
������	 
������ �) &�������� +�������� �� "1� !�-1 <�-18$	

����- �� '	 ������� =	 %������� ��� 
	 �	 =�����	 ��������� �� ������ +#'��������������$ ���
�������

!�
�	��	�� �� +'� )������� �����
 �	� 2�����
��� )��
��	� )�	
��	�
 	 
������ �) ��������

��������� * �	�� 881� !�-- $	

����- (� '	 ������� =	 %������� ��� 
	 �	 =�����	 ����������� 
���� �� �������	 ��	��	� �	 ������ �	�

��
���
 +#���������������	 
������ �) �������� ������� �	
� ,-- !�-- $	

����-8� '	 ������� 9	 '���� '	 %������ =	 %������� ��� 
	 �	 =�����	 2��	��� )��
��� 3����������

������ �� ������
$ ���
������� !�
�	��	�� �� ,������	 ��	��	� �	 ������ +#'�����#���������

������� �� �� �
�����	 
������ �) �������� ��������� / �	�� -��" !�--8$	

����#"� �	 ���3�������� ��� *	 �����	 !��������� 

�����
��
� �� ���

#�����	� ��������
$ α#���������	

�	� ����

 ��	�	 
������ �) �������� ������� ���� "#2 !"##"$	

�&��-8� '	 +	 &����(��	 & )��
���� �	���������	 �� '����	 +'� �
�����
��
� !
���<%���� ��� +����

;�� ���3� �--8$	

�&��--� �	 &����� �	 %���� �	 95�3�� &	 +�5�3�� &	 *	 �5�����3� ��� &	 :�������	 & 	���#�	������


���� �� �������	 ��	�
 �	 �������
 # ���
���
�	 �� ����������� �	� 

�����
��
�� �	���
�
 	

������������ ��� :���������� ��(������� +������ ��� �"� !�---$	

�&��8"� /	 �	 &����� =	 .��) ��� '	 '	 >����	 ��������� �	� ��	����
 �� �	������������ �������	 ��	�


�	 ���������� ���� �����
$ & 
���� 
���� +'� 
����	 
������ �) �������� ������� 
��  1 !�-8"$	

�&��# � ;	 &���������5� &	 *	 �5�����3� ��� 
	 �	 �������3	 +���#�	������ 

�����
��
�� 
���� �� ������


��
�	��
	 
������ �) &�������� +�������� ���� 8,, !"## $	

���



����� �����	�
�������
����

������� �	 
	 ������	 �������� 	
�������
 �� ���
����
�
�� ����������� 
	 �	 �������� ��� �	 �	

������� �
��������� �������� �� ���
������� �����
�
����� ������ ��  �!���� �� ��" # $%� �&���'�

���(������� �����	

���)*�� +	,-	 ��)������� .	 +��������� +	 /�0�1����  	  �������� �	 .��2��� 3	 4�2� ��� 5	 6�7��1�	

��� ��������
 ��
����
� �� �����������������	 
������ �8 ��� 9����(�� �����(�� +�(���' ���

$:"� ��"*��	

��;�%��  	 <	 �;���� ��� &	 �	 �����(����	  �
����
�
�� �����
�
���� �&���',-�����(���(�� /�= >��1�

?+9� �"%��	

����@%� 
	 ����(1�	 ����
� ��  �
�� !�
������
 �� !���� ��� ���
�
�� �����
�	 
������ �8 �����

+!�(����(�' ��� :%% ��"@%�	

�����"� �	 �	 �����	 "������� ��������
 #���
���� �� ��� $�%� ��������
� ��� ���
������� &�%��
 	

��'��(�� ��A��= ��� *% ��"�"�	

���'%$� �	 ��'������ B	 4���(� ��� /	 B�4��0�	 "���� �������� ��
 �����
���'��� 
���(����� ���%��
���


����� ��������

	 ��'��(� ��� ��������' �8 ������� ��� ��� ��"%$�	

����"$� +	 +	 /	 �����' ��� +	  	 /�'�1	 )(��
������� 
���� �� ��� ����
� �� ��� ���

 �
��
����� �
���



�� �������
�(� �������
	 
������ �8 �����(�� ��'��(� ��� *$C� ��""$�	

������� +	 +	 /	 �����' ��� �	 .'�0�	 )(��
������� 
���� �� ��� ���� �
�*����� 
���(����� �
���

 ��

�������
�(� �������
	 
������ �8 �����(�� ��'��(� ���� $@$% ������	

�/���$� 3	 /������ +	 +(��������� 9	 /�=�()'1� �	 �������� 4	 ���� ��� �	 4;����	 ������#����

$���
 !��
���������
 �� +,� "���� ��(������ ��� ��� �����
��� ���
���
 	 ��'��(�� ��������'

�����(�� ��'��(� ��� C$** ����$�	

�/�=��� 9	 /�=�)'1	 "�� -�
�������� %�� ���
����
���
�� �� �����
������
����	 <������������ .�(�,

���(�� ?��A�����D� <������� ������	

�5�"�� <	 3	 5� ��� +	 �	 4�E��	 )����
���
���
� �� ��� ���
����
�
�� #�
�
����� �����
� �� .
�����

!�������� ��(�� ������� ������(�
	 
������ �8 ��� 9����(�� �����(�� +�(���' ���� @�C�

��""��	

�5��@�� �	 �	 5���	 "������
�� 	
���
���
 �� 	�
� &�*��� �������� #��������	 
������ �8 ��� �����(��

+�(���',6�����' .�����(����� - �	� %�� ��"@��	

���1:@� �	 
	 ��1�	 ������
 
�
������ ��
�
����� �� ���
���� �
�
���
/  ��� 
�
����
� �� ��� �
���� ���� 	


������ �8 �����(�� ��'��(� �	� $�% ��":@�	

�����C� 6	 �����2�� �	 +����� �	 ����������� 9	 ������� ��� �	 +	 ����������	 �����
�
�� �� ���
����

.������ �� 0�,������ ��� 1�,������ �
 	
���� �� �����
�
����� ������*��
 	 
������ �8 ��'��(��

��������' 4 ��
� �@��% ����C�	

����%�� .	 <	 ������ �	 4����F��� ��� �	 +�����8'	 ����� �����������
 �� ��2����� �� ���������� ���

�����
���� ����
�������� �� ���
�
�� �����
����
 � 
������� �� ���
������������ 	 �������� 
������

�8 ��������' �
� $�C� ��"%��	

�����*� �	 ����������� �	 +����� 9	 ������� ��� �	 +	 ����������	 ���
�
�� 
���� �� 0�������� ��*���


�
����
�	 �����(�� ��'��(� ��
� �C" ����*�	

���=�$� +	 ��=���� �	 &�1���1� �	 �������� �	 ����(� ��� �	 4;����	 ��3 �� ���� �
�

�
�
 ������

��� "���� �
���

 �� 4��������5���������6 
������ �8 �����(�� ��'��(� ���� �C:*�� ����$�	

���=�%� �	 ��=��� 
	  	 ��7 ��� �	 �	 
�����	 !���(�����
 ��� ��������
��
���
����� �� ���
�%�
���


�������������� ������ ��(��
�	 
������ �8 �����(�� ��'��(� ��	� �$:*�� ����%�	

���



����� �����	�
�������
����

������� �	 ���
�� 
	 ������
� �	 ��������� �	 ��
��� �	 
	 ����� �	 ������� 
�� �	 � �!��	 �������

��	
�� 

����
 �� ���������� �����

 �	� 

���
���� ������
��	 �	 ���
���
 �� ���
����������	��

�	� ���
����������� �������	 �"
���# "$ 
��!���# ������� ���� �%%&'� (�'��)	

�� �*%� �	 � ���# 
�� �	 �	 ����+	 �	
����������� 
������ ��
��	
 �	 ������ 	������	�� �� ��������� �

���
�	 ���	�
�� ������
��	 

���! �	 �"
���# "$ �������# 
��!����� ��� ,�*& (�**%)	

���#�'� �	 ��#��-���� �	 .���"#�� �	 ����#�� /	 ����"� �	 �"���"� �	 �
"���� 
�� 0	 �-!-#-����	

"	�#��
��� $��	�
��� �� %������	 &�	��	� �	 
�� '����	 (����� $���
��� �� )������
 	 �"
���#

"$ �������# 
��!����� � ���� �1'23 (�'�')	

����&1� �	 �	 ����� �	 �	 ��4 
�� �	 /	 5�66���	 $��� &�	�
 �� *�
��� &������ �	 
�� +��� �	������

�	��� %��� ,�
���
��		 �"
���# "$ ��� 78����# �"����� "$ /!����� ��� �&2 (�*&1)	

��"��%� /	 
	 �"���6
��� �	 �	 9���"��� :	 ���;��� :	 /<"
��� 
�� =	 �	 
"�����	 *�������� ������
�

�� ��������
 $�-���������	. � ������
��� ������
��	 
���
��
���� �������� 	 �"#��
#�� ����!�>

��
���� ��� ��� (�'�%)	

��""*2� .	 �	 �""� 
�� �	 �	 �����	 �/��
 �� ���

��� �	 �������	 ��	��	� �	 ��������. ) ���������

��	����
 �	#�

���
��	
	 �"
���# "$ 
��!���# ������� ���� %1&' (�**2)	

�� �*'� ?	 � ��#��	 �	����
��	
 ��� � ���	�� �� ��/�
��	 �����	�
� �	 
���������� ������
 	 �������#

��@��A .������ �	� �&*& (�**')	

�� �*%� ?	 � ��#�� 
�� �	 ?���!���	 ,�����	
�
��	�� ��	����
 �	 $���������� ��0�����
�� 1��
���
�

2 �

 ,���
��	 
� *��	 �	� $���	���� ,�����
��	 2 311 +�������*��	�
���,�
�	�	�� $
��� ��

,�����
��	 3�	��$���� �	� $
�����
�� ����	 �"
���# "$ 
��!���# ������� ���� &�12 (�**%)	

�����1� B	 ���#�C�� �	 �	 ������#� =	 �	 0	 0
!�� 
�� �	 �"@�������	 *�������� ��	����
 �	 3�����

�	� 4��

� $
�
�
 �� +�	�$
������� )	
���	-����
��� ����. (�
������	 	 ?
�"8��� �"
���# "$

����!���
����# �������� ��� 111 (�'�1)	

����'3� 
	 ����"�$�	 %������	 ��	��	�. %�5 ���� �	�����	���
�2 �"
���# "$ �"#��
#�� ���
��
�� ����

&' (�''3)	

����21� ?	 �	 ���� 
�� 
	 /	 /�6�##	 4��

�6����	� 7����
�
��	 ,����	
 �	� 4��

 0��	
�
��	 0�����

��
��� �	 +�	������
 ����
����
� $���
��	
	 �"
���# "$ �"#
��"� 
��!����� 
� &1 (�*21)	

����23� �	 ���
����� �	 D
���# 
�� 
	 ����"�$�	 0�� %������	 &�	� � ,���	
 ��#������	

 �	 
����� �	�

��������	

 ��. $
���
��� �	� 
���
��
���� (="���>�"##��� �
E#�����6 
"!8���� /!������!

=�A F"�� 74$"��� �*23)	

����*'� 5	 �����
��� :	 :
C���� 0	 ����!��� 
�� �	 ��##���
	 +�	����	�	
��� 2% $��	�3�

��� ,������


��	 �
 � $��	�
��� �� 
�� 4��

� $
�
�	 
��!���# ������� .������ ���� 1,� (�**')	

����*&� �	 �������� 
�� �	 � �!��	 ������
��� ������
��	 �	 
���������� �������	��	 �"
���# "$ ="�>


�����##��� �"#��� ��
� �,' (�**&)	

������� �	 ����#�!���� /	 ������� �	 ������
� 
	 ������
 
�� �	 � �!��	 +������ ���	�
�� ��
�	�	��

�	� ������
��� 	��
� 

��� �� 
���
��� ��	
�
��
 �	� �������
��	 ��	�
��	
 �	 
�� ���

 �����	�

��	�������� ���
����������	��	 �"
���# "$ 
��!���# ������� ��	� �2%&�� (�'��)	

������� �	 ����#�!���	 )����8��	� ��� ����������	 ��	���� �	 ���
�����	��	 *�	���������	 ��
�����

��� (��	
��	��
�	�	9�$���
��
�����	 ����������"�� ���������� B��@�����-� �"��!
�� (�'��)	

����*2� 
	 �	 ���8�#� 
�� �	 �	 D���#��	 7������
��	 0���
 �	� :��������� 7�����	� 7�	

�	

 �	

3����� +�*�
������������ �	� +�*�
������
�����	 �������� ��� �
����>����##����$� > �������#


��!����� ���� �&'� (�**2)	

���



����� �����	�
�������
����

������� �	 
	 ������
� �	 ������ �	 ������ ��� �	 �	 �����	 ������������	 
���
������� � �����������

���
�����
�� �������
���� �
����� 
�������� �����	

����� � !	 ���"�
� ��� #	 �����"
����	 �����
����� 
���
������� �� ���� 
������ �
����� 
��������

��� �	

����$�� #	 ����
%�� &	 '����(��� &	 ������)�� *	 '+
,���)� ��� -	 ����(	 � �
�
��
���� ��	�� �� ��	�����

���	 ��
����� �� �����	 ��������	 &)�
��� ). /����(�� #����(� ���� �012$1 ���$��	

����$1� #	 ����
%�� -	 ����(� �	 ��
���)�� �	 �)��� �	 ��((�
���� #	 !)�3���� �	 4+��� 5	 '���
�

6	 4���(�� #	 *����������
� -	 *)���� &	 ������)�� /	 4����
�� 7	 8��)��
� �	 �(���������

�	 '���
 ��� 6	 '+���
	 �����	  ��������� �
�	��	 �� ���
��� ���

������ ������������	� ��	

	�����
��� ����
�������	 &)�
��� ). /����(�� #����(� ���� $�12�$ ���$1�	

����$�� *	 #	 ���9� ��� 6	 6�(��
�	 !�
����� "�	������#��	�	 

���
���� �� �� ������� $��%��
 ����

&���� 
� $�����	 #����(�� 6�:��� *����
� ���� $;< �� ���$��	

����$=� *	 #	 ���9�� /	 -�"�>����)���() ��� 6	 6�(��
�	 '������� �� ������������� �����	�( )���(

'�����
��� ����*�
��� ��	 ��
����������� �������
��� �� � ������ �� �������� ��
�� �������� 	 &)�
���

). /����(�� #����(� ���� $112�= ���$=�	

��601� �	 �(�����>6)�
 ��� �	 
	 �?��@	 +��
�	���������� 
���	�

�
� �+& ��	 �������� �-(�����(

#
���� *)��)�� $001�	

����;2� 7	 �	 ���,���� ��� &	 7	 5����
	 
��� '�,����� +���������
�- 
��� .����� �� 
�� �������� ��

� /����'����	��
 0���	 1��	���
	 &)�
��� ). /����(�� #����(� ��� �  �$0;2�	

�����0� �	 -	 ����	 "�	����� #��	 '������� �� ������� $���
���	 -�:��(�� �� /����(�� #����(� ����

$ ����0�	

�5)
 �� A	 -	 5)
(��� ��� -	 ���")	 
������

��� ����*�
��� �� ����	�	 &)�
��� ). ��9����( 6��)���(�

��� $�< �$0 ��	

�5
�� � �	 5
�"����� !	 �������� �	 B��
 ��� �	 /	 '���������>!����	 ���
��� ��	 )���� ���

����� �*�

�������
� �� ����� 	��
���
�	 �����	 ����
������
���	� $'3$2�'$'3 �
 %������ 
������
����

��	 ��	�� ��������	 &)�
��� ). �)��(���
 ��
�(��
� ���� =  ���� �	

�5�
 1� �	 5�

��� ��� �	 ��

��	 '�,����� �� �����	�- � 
�����
���� ��	 �*�������
�� �
�	� �'����
>

�)
���� *)��)�� $0 1�	

�8��02� �	 �	 8��:�����C� 6	 ��
���� ��� �	 5)
�����	 '�
������
��� �� �����	 

���
���� �� 
�� �������

�������� +�
������ .
������  ����������  �#�
���� ��	  �2�
���� �� )���� 
��

����� 	 &)�
���

). -??���� /
������)9
�?�� ��� $ 0 �$002�	

�:��<1� &	 �	 :�� ��
 ���� ��� 7	 5	 4	 *���	 

���
���� �������
��� ���� 2" �
��
����� �����������

������	��� ��
���
�	 ��������	 �?�(�
)(����(� -(�� - ��� ���2 �$0<1�	

�8���<� �	 *	 8��"�� �	 7	 #��� ��� *	 -	 7	 '	 �� /�
:���)	 /�
�� ����
 ����	 &)�
��� ). #��
��(����(��

�(���(�� �	�  =1 ����<�	

�8��$=� �	 8��)��
	 �����������
�
���
�������� 	�� 2"� ��	 �"�

�������������� �� �������
�,�

��3�������	��	�� 
��
����	 '�(���)
�
"���� 5�(����(�� D��:�
���C� A)
����� ���$=�	

�
���1� 4	 7	 
��
�.��	 .,��
� �� ����������� "����	 	��
���� ��	 ����� ������� �� &���� ��
����
���

�� ��
��	 &)�
��� ). /����(�� #����(� ���� 1 ; ����1�	

�
���1� *	 �	 
��9 ��� 6	 6�(��
�	 '������� �� ������������� �����	�( �)( 

���
���� %����� 	�����
���

����*�
��� �� ������	��*� ��������	 &)�
��� ). /����(�� #����(� ���� $$$<� ����1�	

���



����� �����	�
�������
����

������� �	
�	 ���� 
�� �	 �������	 ��������	��
� 
� �������
�� 	�� ��
����
	� 
��	�	��
�� �� ��	���

�

���� ���
��	
� 	�����	 ��
���� �� �������� ������� ���� �� �!" #$���%	

�����&� �	
�	 ����� '	 (���� �	 ��
 
�� �	 �������	 �	�

����
�� ��
��� ������� ��	�� �
	�����
�� ��

����
�� �
�
���

�� 	��
�
��	 ��
���� �� �������� ������� ���� �& ��) #$��&%	

����*&� �	 +	 ������, 
�� �	 -����.�/,	 �������
�� ���	�	��
� �� �
�� ������ �� �	
�
� ���
	���

��� 	

0�1����� �� �����
��� ����2����� ��� 3���������� ��������� ��� $44 #!4*&%	

�����"� �	 �������� �	 5����,� �	 0	 6
��� �	 7	 0��,���� 
�� �	 6����/	 �

 �
	���� 	�� 	����
�


 �
	���� ����� �
���
� 
� !�� 	�� ����	�
�	 ��
���� �� �����
��� 6��
��
�� ���� !& #$��"%	

�����&� �	 5	 ������� 
�� �	 8�����9�	 �
��� ��	�� 	�

 ��"	��
� 
�  �	
�	������	��	 �����
��� ����


����
���� �� 4�� #$��&%	

����!$� :	 ����,��9	 �������
����� #���
������� �
� $�	�������
� ��� ������%

"����� 	 ��������;����

(��������� <��1�����=� 8����
�� #$�!$%	

����*$� �	 0	 ����.���	 ���

�����
� �
 ��� ���

� 
� �
�����	
 ���
	��
�� 	�� ���
	��
�	� � ���

��
 �

#<��1������ ������ >2����� !4*$%	

����""� �	 8	 ������ 
�� 3	 �	 ?���@	 &�	
����
	
�� � ���
	 
� !2���2� �
����
��	 ��
���� �� ��������

������� 	�� $&"& #!4""%	

�����&� �	 ���,��� 
�� �	 �����	 %
	����	� $���� �
 ����
 
����� &�	
����
	
�� � ���

��
 � #���

������ -��� ������ 5������� <60� $��&%	

�'
!$� A	 '
� �	 B��� 
�� �	 ���
A��
	 �


��	��
� ���'��� (
���)����� ��	��� 	�� *��
	��
�	�

+
�,����� ����� �� !��

����(
���� �
� ����� ���������	 0��� ������� 
 ������� 6����� ���

 44 #$�!$%	

���



��� �����	
���
�


��� �����	
���
�


������ �� ������ 	� 
��
���� �� ��������� �� ������ �� 	� ����� �� ������� �
� ��

������� ���������	
� �	
���� �� ���������� ������� 
�� �	�
�	
�
� ���
�
	��

�� �� ���	
��� �� ���	���������
��� 
�� ���	����������� ������� � ����
�� � 

	������� ������� ���� !""#$% &%$!%'�

������ �� ������ (� �����)
*��� 	� 
��
���� �� +�
��
������� ,� ������� -� +����

�
� �� ������� ����� ���
�
	��� 
�� ��� � 
���
�� �� ��
�� �������

����������� 
�������� ����
�� � 	������� ������� ���� $."#$# &%$!/'�

�� ������ �� ,������0� �� ��������

� �� 1���� ,� ������� �� ���������

2� �� 3���
� 	� 
��
��� �
� �� ������� ���
��
�� ���
���� �� ��
	 ��

��	���� ����	
��� 
�� �� ���	
��� !�	� ���	���������
��� � ����
�� � 	��4

����� ������� ��	� !/"#$/ &%$!/'�

����
� �� �����5
� -� ������ �� (������
� �� (�6�� �� �������
�� �� 1��7���� ��


��6� ��� ������ �� 
������ �� +�
��
������� -� +����� �� �������
� 	�


��
���� 8� 9�
����� �� ��������

� �� ����� �
� �� �������"�#
�� ��

����
��� �	
���� �� ��
	��� ��
		�����$ ��
������
���$ 
�� ������	��� �����

	�������� ����
�� � 	������� ������� �
�� !%"#$! &%$!"'�

������ �� ������ (� ����� �� �:
6
��� �� ��������

� 	� 
��
��� �
� �� ���4

���� %���� ������	��� ��#
��� �	
���� �� ������	���$ ���
� ����
���
�$ �
����


� �
���	�� �����
���$ 
�� ��
������
��� ����	������� � ����
�� � 2�
4

	��������
� ������ 
��� /;" &%$!#'�

�� ������ �� ������� 	� 
��
���� �� <�������

 �
� �� ������� %����

�
�
� ��	���� �� �
��������� 
�� ��
��� ��
������& ��
	���� �
���	�� �����

�
��� 
�� ����������
	��� �������� �	
��� ����
�� � �������� 	�������� ��

���0=>>�?�������*>!$�!$%!>����@0�A�#A$!$B%�

�� ������ �� ����
� 1� ����� 	� 
��
���� �� ��C�
���� �� +�����
* �
�

�� ������� '���
	���
� �	
�� �� 
��
�������	�$ �
��
�����
�
� �	�
�	
��$


�� �������� ������� �� 	!� ��	
��� �������� 9�A�����
�� �0��������0��

���0=>>�?�������*>!$�!$!D>@�C�A�0���%$!#�$#�$$!�

!%.





��� �����	�
��� 
�� 
�������������
� ��� �������������������

�� ������

��� �����	�
��� 
�� 
�������������
� ���

�������������������

��� ��� ���	�
�� 
�� ��
�	�������������	 �����	
��� ���� ���� ����� !���!"
���!

������������ 
�� #���� �����	 $������ ��	�	 ����� 
�� %������	�	 �$���$�	�& ���
� �$$�'!


�	% ()*( +�,* ��� $�� ��	�� -�''�	'.	%� ��	 1050 	� ���%�	����	� A(t)!/���� ������ $��

0�* ��	�� 
�'$�	  ��	
� 
���'�0
 �� ��	�	 -��� ��	 �&��11 �	
 �.''� 	�0
 ��	�� 2�3����

$�� ∼ 3 
 ����' �$* ����	�����0
�	
 ��		 	�0
 ��	�� -���'����
��� 
��  ������������ ��	

�	%��.
� ��	��  ��	
� ��� 
�	 2����	%�	 $�%�		�	 ���
�	* �� 
�� ����� 
�� 43������	!

�� �	 
����� ��$��� �5���0
������� 	�0
� '.	%�� �'� 15 
 $���.%�& ��%�$� ��0
 ��	� 
��0
 
��

 ����������� �������0
�� �$���$�	�!����� ��	 δA ≈ 0,005& 
�� 	�0
� �	 
�� /�������� ���

��	6��7�*

8��90���0
��%� ���
�	 ���� �''��
�	%� 
�� �$�������	 
�� '����	 "��$�	��''� APZ �9� 2��!

��	%�	 ��� T ≥ 300/* ��$�� 
�	
�'� �� ��0
& �����	 	�0
� �	
��� �	%�%�$�	& ����� �� ��	�

/9����� ��� :5� ((�!;< 
�� #���� =�''�� ��� ��	��  0
�0
�
�0�� ��	 d = 2��& 
���	

��''�	'.	%�	�$
.	%�%� �$���$�	� �	 �$$�'
�	% ()*( +$, �� ��
�	 ���* #9� 43������	�� �	!

���
�'$ ��	 300/ ����� ���%��	
 
�� :�������������!���$���& �9� �����'� ���
� >8��(��?&

���.��'�0
 �� APZ 
�� �$�������	 
�� ��������	����& ����'�����	
 �	 ATT& 
�	��*

��0
 ���	�
�� 
�� ��
�	�������������	 ���
�	 
���� @� 	�0
 43������	� ��	.0
�� $�!

�9%'�0
 
�� �	���%��	
�� �����%����* �� �''��
�	%� ��0
 ��6�3��	�	 �	 ������!A'��! �
��

100 101 102 103 104 105
0,002

0,004

0,006

0,008

A
bs

or
ba

nz
 A

λ � *� �/+/�
�

0	�"� "� �(�

�!�

0,001 0,01 0,1 1 10
0	�"� "� �1�

δ2� *� /�//+

1200 1400 1600 1800 2000
0,100

0,102

0,104

0,106
0,22

0,24

0,26

0,28

2�0

2��

�3�

  

4	��	
�5

	� λ� �
��

#�.	""	

6!����7	
("	�8#�.	""	

�� *� �//�#

9000 8000 7000 6000 5000
4	��	
)!1�� ν� ���−��

���� ����� ��� ������	
����
��� ��� �	�� ����� ���������� ��������� A(λ =
1050 ��) ��� ���
��������� ��� ��������������� ��� �������	����� ������ �����

��� � �����������!�������� "����� ��� #��������������
�� ��� $�
���%������

��
�� ������ ����������� �p = 0,1����� ��� ��� ������ &'(���� ������� ��� 300&�
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A(λ, T ) = Askal(λ, T ) · Askal(λ0, T )

Askal(λ0, T0)
 ��

Askal(λ, T ) = Aexp(λ, T )− APZ, ATT + A(λskal, T ).
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�!"����� ���	�������	

������# $��� %��	��!&���������	'��� (%	!)���* ������ 
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� /�������	��� 
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�!"����� �������������#

$
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	�������� ����������	 ������# ��.-� ���� ��� 2	���
3������ ��	 �
� �������� �'������	.'!

������	 ��������	� �� ��� �
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 ��� ����� ������!
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��� �����	
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	��� ��	�������	� &5��������	 ��� 4���
��	����!�����
��	����!0�����������	 
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#–

E �� ��� %����# ��� �� ��� /���	��� )#� 
�� )#�

���'
	��	� ��	 ������ ��� 1�	����	'	 ��� �
�� ��� ����	���� %���	��� ����� 1�.����	����� ���

����	������� ����������	 #–e ��� ��	����	�	�� �������	�� 8���
�� ���'����# ��� ����	�����

���

���	� ���������
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��� %��	�����	� !	��	���� &��	 #�"��	� �	
�"�	���	�	� $����
�
��
�	

��� '���	��	��
���	� '���������
	� ��� !	��	������	 ���	����!	� ���� ��!	!	�	��

��� �����	
 ����
����� �������������� �������� �� ���������� ������� ��� ����������� ����
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�"� ������ ������ 
"��� �(� ��� &���������� )����������� ���� *�������'������������������'

+���� ,*��'+����- ����� ������"�� .��	/ ������"����- ��� �(� �����������'����������� ���
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� "� ��� ������������ 1��� �� ��� 8���� �"��"'

��"�� 
��� �"� ��� )�����#��� ���� ��� 100 �� ����� *���"���������'5������ ,�����9 *���"�

0��  ����- *0 / �"���������� ���� 0��������"�� ��� ������������� )�����#��� ��� �����

��������� �� ������� ��� ������  �' ������� �"� �������(��� 
������#�������#����- ���'

�� ������"�� .��.� )�� �������� (��� ��� *0 ' ���:#��� ��������� %��������� ����#��

R = 100− 200�- ��� 2������#� ��� *��'+���� ��� ����� %��� &�� C = 47 �1�
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2% ���−1 ��� ����� )��������� ��� p ≈ 500���� ��	��*�
� ��� �*� ����	� +���������
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���	 / & 
��	�� ���� ��� 0������������� ������ 1������� ����� ����� +����������
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��	 �

� �*� 234� ������������������ 3�����
� ��������5 ����� ���	���#	�� α/β�

��� π�0����� ��� 270%� ��� ������� ��� A(λα/β) ����� ��� 	
����
����	� ������� ���

δ�0�������6����� ��	
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 0 ��� T = 220% ���
#–

E�9�
� �� ��� ����� ������ ��� (���������������

����� �� ��� ��� 
� ���������� �
�������� ����
����� :������	 ��� ��������
 �� ��� 	
������

;��!��������	 ��� ��� ����� ��� �������#�	�	���� ��� ��������
 ��� 1����������� ������

������ 9��
��� ����� ����
���	 &< & ����
�� ����7� ��� ���

����	� =5 − 10 �> ������ �����
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$�� ��
����� ��������
�:������	 Ã = A(ν̃, U) − A(ν, U = 0.) ����� �*� ���� 0��������

6��� �� (������������������ ��� 234� ?����
� �����
 	������� ��� ��� �� ����
���	 ,- 4

�
� 9������� ��� @������������ ��9�
���#��� E2 = (U/d)2 ��� d = 125 �� ���	����

� 1����
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������ Ã(E2)�.��
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